2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
ARGON GAS AIR GAS-CLARKS EACH S 346.61
ALLEGHENY VALVE AND
10139: 4”BLACK BUNA-N COUPLER GASKETS COUPLING EACH S 10.81
ALLEGHENY VALVE AND

10139V: 4” GREEN FLOURESEAL COUPLER GASKET COUPLING EACH S 39.03
#10 THHN STRANDED WIRE (7 COILS) ALMIGHTY ELECTRICAL EACH S 301.05
#10 THHN Standed ALMIGHTY ELECTRICAL EACH S 1.20
#6 Crimps/ SS nuts/ SS bolts/ Washers ALMIGHTY ELECTRICAL EACH S 120.42
#6 THHN Wire ALMIGHTY ELECTRICAL EACH S 103.37
1linch EYS ALMIGHTY ELECTRICAL EACH S 93.25
1/2" Grounding Bushing ALMIGHTY ELECTRICAL EACH S 19.18
15W Explosion Proof LED Light, ALMIGHTY ELECTRICAL EACH S 1,198.88
16 point relay module (1) ALMIGHTY ELECTRICAL EACH S 346.25
190B1704G1 MCC Handle E9000 Evolution Series ALMIGHTY ELECTRICAL EACH S 894.11
3 hole explosion proof box ALMIGHTY ELECTRICAL EACH S 410.86
3 Phase Monitor Relay: Socket Mounted 10 A Current Rating, 190

to 500V AC ALMIGHTY ELECTRICAL EACH S 1,280.00
3/4 inch unistrut strap ALMIGHTY ELECTRICAL EACH S 4.34
3/4 PVC Coated Steel Rigid ALMIGHTY ELECTRICAL EACH S 191.16
316 SS 1-5/8" Unistrut (10') ALMIGHTY ELECTRICAL EACH S 1,089.15
316 Stainless Steel 1-5/8" Unistrut ALMIGHTY ELECTRICAL EACH S 491.31
316 Stainless Steel 3/4" Unistrut Straps ALMIGHTY ELECTRICAL EACH S 8.24
60 LB Quickrete ALMIGHTY ELECTRICAL EACH S 15.90
8"x8"x8" Concrete Cinder Block ALMIGHTY ELECTRICAL EACH S 3.90
BURNDY CRIMP ALMIGHTY ELECTRICAL EACH S 345.00
CAD WELD SUPPLIES ALMIGHTY ELECTRICAL EACH S 575.00
Copper Ground Bar ALMIGHTY ELECTRICAL EACH S 240.84
Cutler Hammer HMCPEO30H1C 3 pole 30AMP600V Motor Circuit

Breaker ALMIGHTY ELECTRICAL EACH S 2,408.38
Emergency Generator Stop ALMIGHTY ELECTRICAL EACH S 556.94
EPS-2XPB-SG-MS-C1D1 - EFSO Switch (Appleton) ALMIGHTY ELECTRICAL EACH S 743.95
E-STOP AND BOX ALMIGHTY ELECTRICAL EACH S 558.07
E-STOP COVER ALMIGHTY ELECTRICAL EACH S 157.19
Fuses ALMIGHTY ELECTRICAL EACH S 96.00
Gilbarco M04011B001 PULSER, ENCORE 300 ALMIGHTY ELECTRICAL EACH S 1,549.57
Gilbarco M06333A002 Pulse Out Board ALMIGHTY ELECTRICAL EACH S 1,098.22
Gilbarco M06587A001 Pulse Out Board ALMIGHTY ELECTRICAL EACH S 449.43
HAMMER DRILL RENTAL ALMIGHTY ELECTRICAL PER DAY S 50.00
HONEYWELL MICRO SWITCH EXPLOSION PROOF LIMIT SWITCH  ALMIGHTY ELECTRICAL EACH S 3,064.43
HONEYWELL MICRO SWITCH LIMIT SWITCH LEVER ARM ALMIGHTY ELECTRICAL EACH S 53.55

CPH_PARTS LIST_2025 Page 1



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

Indicator Lamps

junction box, caps and elbow

LED Security pole lights

LIQUID FLOW SITCH: 1-1/2 MNPT CONNECTION SIZE
NEW SQUARE D 8536SG0O1

Photocontrol: 120V AC, 3,000 W Max. Watt, 25 A Max.
Incandescent Amps, 25 A Max. Ballast Amps

PVC Coated Rigid 1/2"

SS Beam Clamps

transient relays

V4 Flotect Vane Operated Flow Switch

Pilla E-Stop, Box & Clear Cover

M10996A001 PCA 24V DC POWER SUPPL

3/4" EYS and CHICO

Square D Single Pole 20Amp Bolt On Breaker

EFSO SWITCH

DOORKING KEYPAD OL-1812-081

Appleton EFDCB150U2 1- Gang 2-Pushbutton Unilet
1" 316 Stainless Steel Unistrut Straps

316 Unistrut 1-5/8"

316 Unistrut traps 3/4"

4 HUB Explosion Proof Junction Box

Control Station: 1 Gang, Mushroom Head Push Button

Crouse-Hinds NC-CH1 1- Gang Control Station Open face cover
BUCK BOOST TRANSFORMER

EATON 3 POLE 30AMP BOLT ON BREAKER

30' 3/4"PVC COATED RIGID

3/4" PVC COATED ELBOWS 90

3/4 PVC COATED EYS

3/4" PVC COATED LBY

20 Foot 4 Inch Square Straight Aluminum Light Pole
HUBBELL KILLARK Enclosures

1" PVC COATED RIGID CONDUIT

Explosion Proof Pendant Appleton

PVC Coated 4 Port Round Junction Boxes

PVC Coated Cap Elbow

3/4" PVC Coated "C" Condulet

1" PVC Coated GUAX

1" PVC Coated EYS

Single Pole 20Amp Switch Box and Cover PVC Coated

BRAND NAME:

ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL

ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL

ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

R AR VoRE Vol Vo RE Vo R Vol Vo SR Vo R VolRR Vo Vo RE VAR Voril Vo Rk Vo BE Vol Vo 8

10.02
610.44
402.50

1,387.61
16,471.30

270.94
171.31
12.07
355.01
2,284.22
2,004.97
1,299.03
89.69
82.14
1,723.80
3,117.14
815.09
38.09
669.87
20.01
162.93
1,027.68

378.60
7,522.24
378.91
419.02
82.45
171.78
149.45
12,819.79
2,378.28
276.54
640.64
586.86
404.37
212.54
884.48
433.51
355.36

Page 2


mailto:CONDUIT@$276.54

2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

EFDB Explosion Proof Photocell Sensor

3/8" Beam Clamp

1-5/8" PVC Coated Unistrut

3/4" PVC Coated Unistrut Stap

3/4" PVC Coated One Hole Strap

1" PVC Coated One Hole Strap

3/4" PVC Coated Female Union

1" PVC Coated Female Union

1" PVC Coated Unistrut Strap

3/4" PVC Coated Rigid (800' total)

3/4" PVC Coated Rigid (120’ total)

1" PVC Coated 90 Degree Elbow

2 POLE 50AMP BREAKER

#12 THHN STRANDED (500')

#10 STRANDED THHN WIRE

1" EYS AND CHICO

LED LIGHT FIXTURE

Boom Lift Rental and Delivery

LED Pole Fixture with Photocell

Appleton Class 1 Division 1 Circuit Breaker enclosure
Loop Module LOOPDETLM

3M Loop Detector Sealant 1 Case of 12 Bottles
3M Powered Applicator Gun

Sandbag

4/0 AWG XLP/USE-2RHW2RHH Stranded
5/8"x8' Grounding Rod

Water Pipe Grounding Clamp

Hose Clamps

One hole straps for conductors

4/0 Barrel type crimps

Ground Rod Clamp

Incandescent Red Obstruction Light FAA L-810 13-861R-T
Model # HID36-CS-E26-LED 82363

150-Watt Equivalent A21 Energy Star 3-Way LED Light Bulb
Eaton Motor Starter A200M1CAC

Lift master cover box K77-37852

3M Loop Detector Sealant 1 Case of 12 Bottles
DoorKing Loop Wire 500' Coil

TEFLON 1/8" SHEET DMIS4800125027-48

BRAND NAME:
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
ALMIGHTY ELECTRICAL
Altamira Material -D&M
HYDRAULICS

CPH_PARTS LIST_2025

UNIT:
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PER DAY
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

PRICE:

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S

836.18
122.42
93.42
37.62
51.64
53.95
265.52
275.29
35.51
11,165.23
2,116.96
450.87
187.58
180.63
0.73
120.42
195.29
842.93
444.66
5,690.84
722.90
869.22
656.82
18.06
1,423.35
35.16
86.81
21.84
26.31
31.73
22.70
398.83
111.93
17.30
3,148.02
520.19
869.22
302.97

109.25

Page 3



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
GROUNDING REEL MODEL # SB2A1- 50 WITH 50’ YELLOW
COVERED STAINLESS STEEL CABLE

SD2A1-100 w/ Stainless Steel cable
1" THREADED CAP

86A-105-01 1" SS BALL VALVE

BALL VALVE 1” 150# SS

BALL VALVE 4 150# 316 RF RP 2PC

BALL VAVLE 8 150 RF SS RP LEVR

1/4” SS SNUBBER

GAUGE, 2 1/2” FACE LF BM -30 TO 30 1/4” NPT 0-300 SS PRE-
CALIBRATED

GAUGE 2 1/2” LF BM 0-300# 1/4 NPT, SS PRE-CALIBRATED
GAUGE 4” LF BM 0-300# 'A NPT, SS PRE-CALIBRATED

GAUGE, 2 1/2” LF BM -30 TO 60 1/4 NPT, SS PRE-CALIBRATED
SNUBBER 1/2” SS

ANSELL CPP 56-512 HYCAR APRON,

PYRAMEX HHABW HARD HAT ADAPTER

30-GALLON DRUM SPILL KIT

747-10 NITRILE GLOVES

0410141-005: TURBINE P150U1 RJ2 FSA

0410141-005: TURBINE P150U1 RJ2 FSA SUBMERSIBLE PUMP
1" THREADED NIPPLE

108G002-0407281P OCV VALVE

1097: SHAFT SLEEVE WITH SET SCREWS

11461DE-0407281P OCV VALVE

BRAND NAME:

AMERICAN REELING DEVICES

AMERICAN REELING DEVICES
ANVIL

APOLLO — D&M HYDRAULICS

APOLLO — D&M HYDRAULICS

APOLLO — D&M HYDRAULICS

APOLLO — D&M HYDRAULICS
ASHCROFT - D&M
HYDRAULICS

ASHCROFT — D&M
HYDRAULICS

ASHCROFT - D&M
HYDRAULICS

ASHCROFT — D&M
HYDRAULICS

ASHCROFT - D&M
HYDRAULICS

ASHCROFT — D&M
HYDRAULICS

AWP SAFETY

AWP SAFETY

AWP SAFETY

AWP SAFETY

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

CPH_PARTS LIST_2025

UNIT:

EACH

EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

PRICE:
$ 608.00
$  1,058.98
$ 762,348.00
$ 703.14
$ 476.52
S 2,221.42
$  13,403.25
$ 20.76
$ 215.86
$ 220.72
$ 430.26
$ 215.86
$ 52.46
$ 29.85
$ 7.82
$ 440.72
$ 9.62
$  4,018.29
$ 304.33
$ 100.00
$  9,180.40
$ 344.56
$  10,439.09

Page 4



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

15798C X134H Deadman Handle

2 1/2” X 10” WING

2002V-2351: HOUSING SEAL GASKET

2006-2140V: MECHANICAL SEAL

207808: HANDLE GRIPS (PAIR)

2228008F X105 LCF Limit Switch Assembly

2682050: THIEM DUST COVER

2803016-101: 2-1/2” SAFETY RING

285E4351751: 1” X 1” TAYLOR PRESSURE RELIEF VALVE WITH
TESTING PORT

3000RK-0302: 3” OPW SWIVEL REBUILD KIT

3620-0301: 3” STYLE 20 SWIVEL JOINT WITH F/N

3712K44 SIGHT GLASS ASSEMBLY,1909.66

3725K19 SIGHT GLASS TUBE

49526 PACKING GLAND

5030-111: NORGREN SOLENOID OPERATED AIR VALVE, 3- WAY
N/C

61154EL FEMALE HALF DRY BREAK QD

64226 BREAKAWAY COUPLING

700LL-3/4: BALL VALVE 3/4” FNPT- 3/4” SS WITH LOCKING
DEVICE

711000: BALL VALVE 1” SOCKET WELD 3 PIECE SS BALL VALVE

8134-15: X134 DEADMAN WITH 15’ HOSE

BRAND NAME:

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

1,213.17

424.49

37.76

383.85

36.25

3,758.86

78.66

19.79

304.29

67.68

495.94

1,909.66

42.55

365.00

82.60

1,264.60

4,461.34

8,378.00

189.98

2,451.88

Page 5



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

825E251551: PRESSURE RELIEF VALVE, 280 PSIG

825E3251851: 3 1/4” THREADED INLET (MALE) 1” THREADED
OUTLET (FEMALE) 100 PSI

825E3-7-5-1-8-5-1-10-10-0: 1” X 150# ANSI RF INLET X 1” X 150#
ANSI RF OULET, VITON O-RING, STAINLESS STEELBODY, 316 SS
INTERNALS, 1/4” FNPT GAUGE TAP IN INLET BODY, SET
PRESSURE: 150 PSIG, LIQUID SERVICE (JET FUEL, CLOSED
SYSTEM), INCLUDING VALVE TEST REPORT AND ASSEMBLY TEST
REPORT

825E37-5-1-8-5-1-10-10-0: 1”X 150# ANSI RD INLET X 1” X 150#
ANSI RF OUTLET, VITON O-RING, STAINLESS STEEL BODY, 316 SS
INTERNALS, 1/4” FNPT GAUGE TAP IN INLET BODY, SET
PRESSURE: 100 PSIG, LIQUID SERVICE (JET FUEL, CLOSED
SYSTEM), INCLUDING VALVE TEST REPORT AND ASSEMBLY TEST
REPORT

825E4251511: PRESSURE RELIEF VALVE, 150 PSI

825E4251551: PRESSURE RELIEF VALVE S/S 3/4” INLET 1”
OUTLET, INCLUDES 1/4” FNPT GAUGE TAP IN THE INLET BODY
825E4451751: 3/4” X 1” TAYLOR PRESSURE RELIEF VALVE WITH
TESTING PORT

825E5251551: 3/4” INLET 1” OUTLET 280 PSI, SS WITH TEST
PORT PRESSURE RELIEF VALVE

825E7-5-1-8-5-1-10-10-0: 1” X 150# ANSI RF INLET X 1’ X 150#
ANSI RF OUTLET, VITON O-RING, STAINLESS STEEL BODY, 316 SS
INTERNALS, 1/4” FNPT GAUGE TAP

850131001: AIR CYLINDER

90AF-4A-3: 3” VALVE, 150# FLANGE

ASSY,VISUAL IND 4"SS

AV75603TS: VENT REBUILD KIT

DC 2.5/3RED: RED-FUEL LOADING ADAPTER

DEB-0400: 4” DOUBLE ENTRY BOOT FITTING RUBBER SLEEVE

BRAND NAME:

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM
BECKER AVIATION- CLARK'S
PETROLEUM

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

503.08

511.43

1,117.33

1,117.33

503.08

552.91

304.29

503.08

1,117.33

438.72

9,779.84

205.36

52.68

96.90

112.90

Page 6



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

EFX8320G146VMS ASCO VALVE

G300T: 3” VIC GASKET

GF64040B FUELING ADAPTER

GTP-11-400: AIR ELIMINATOR

GTP-534-PB-30A: DP GAUGE ASSY, GAMMON 0-30 PSI
KD64200-1: REPAIR KIT FOR CARTER NOZZLE 6400 WITH
HANDLES

KD64349-1: REPAIR KIT 64349 CARTER NOZZLE
KITF117-3: NOSE SEAL

KITF646-22: F646 VAPOR VENT COMPLETE REBUILD KIT
M06227K002: GASBOY LED LIGHT KIT

METER REBUILD KIT

MP22133: SPRING HOLDER

MP35610: SEAL-T-2

CARBON/SILICON CARBIDE VIT.

NK500A416-7M: COLLAR

RETENTION SCREW

Nut, 1”

Pin, %"

RGA301CB: TTMA 3” GASKET

Sight Glass, Water Sump

SSCAB716: 10" STAINLESS STEEL COMPARTMENT CABLE

Swing Bolt, 1”-8UN Eyebolt x 7-3/4

BRAND NAME:

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

BECKER AVIATION- CLARK'S
PETROLEUM

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

917.06

18.45

695.89

458.68

431.58

244.26

293.82

258.29

182.90

511.23

468.52

6.32

510.51

6.63

22.61

86.81

5.90

1,057.91

28.14

174.07

Page 7



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
BECKER AVIATION- CLARK'S
Washer, 1” PETROLEUM EACH S 4.00
BECKER AVIATION- CLARK'S
08863 Deadman Handle / Switch Assembly + 32’ Coiled Cable PETROLEUM EACH S 1,577.95
215201: LED CLR/MKR RED 1 WIRE BETTS INDUSTRIES EACH S 21.56
24-010-012: LICENSE PLATE LIGHT BULB BETTS INDUSTRIES EACH S 16.87
510003: CM RED LED W/2 BUTT CONECTORS BETTS INDUSTRIES EACH S 30.55
710002: AMBER TURN SIGNAL LED LIGHTS BETTS INDUSTRIES EACH S 109.77
835011: FLOOD (805-07713) BETTS INDUSTRIES EACH S 34.86
920078 12+: TOGGLE SWITCH WITH PIGTAILS 3
AMP WITH RUBBER BOOTS BETTS INDUSTRIES EACH S 75.18
920450: COVER ASSEMBLY 4X8 JUNCTION BETTS INDUSTRIES EACH S 13.91
920459: SHOCK-STOPPER BLB SOCKET BETTS INDUSTRIES EACH S 10.23
920600: O-RING BUNA N #258 SILICON BETTS INDUSTRIES EACH S 1.06
AV46836ALTS: BETTS INDUSTRIES EACH S 314.18
AV46836ALTS: 4 AL VAPOR VALVE ASSEMBLY BETTS INDUSTRIES EACH S 176.72
AV75601TS: SEAL KIT — Av46850 REBUILD KIT BETTS INDUSTRIES EACH S 53.94
BWAFHM2E: LED LENS/LIGHTS BETTS INDUSTRIES EACH S 33.47
EV46909ALTS:
INTERNAL AIR OPERATED GROOVED
STRAIGHT OUTLET TEF-O-SIL 4” BETTS INDUSTRIES EACH S 348.26
EV46911ALTS: INTERNAL AIR OPERATED GROOVED 90 DEGREE
OUTLET TEF-O-SIL SEAT 4” ALUMINUM BETTS INDUSTRIES EACH S 343.20
G25507CB: GASKET 6 SUMP BETTS INDUSTRIES EACH S 8.26
OP9001EY: OPERATOR-1 COMPT LUBE BETTS INDUSTRIES EACH S 213.48
PPVL816BXB: BETTS INDUSTRIES EACH S 313.04
SR4FHM3E: 4 S/T/T-RED-44 LED-EYELET BETTS INDUSTRIES EACH S 35.21
SV916MSM:
SLIDING GATE VALVE METAL TO METAL SEAT TTMA FLG X TRD 6”
STEEL BETTS INDUSTRIES EACH S 499.49
WD18404BN: REPAIR KIT WET AND DRY VALVE 4”
BUNA BETTS INDUSTRIES EACH S 41.17
WD406ALVB150:
WD VALVE 4” AL/VT W/ SPECIAL EXTENDED DRIVE SHAFT 3” EXT
4” ALUMINUM VITON BETTS INDUSTRIES EACH S 199.65
BONNEY FORGE — D&M
BALL VALVE 3/4” 800 A105 CS NPT HYDRAULICS EACH S 258.42
BALL VALVE BONNY FORGE — D&M
1”7800# 316 SW HYDRAULICS EACH S 447.22
BALL VALVE BONNY FORGE -D&M
3/4” 800# 316 SW HYDRAULICS EACH S 295.00

CPH_PARTS LIST_2025 Page 8



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
FLANGE ASSY , M5 & M7
M7AT2-MECH-NP#1

21267480K 3" HIGH PERFORMANCE SWIVEL JOINT TTMA

21267479C 3" SPACER KIT 35mm

Pantograph, Hose End Type 3”

1" FEMALE UNION

1" KO SEAL

1" MALE UNION

3/4 FEMALE UNION

3/4" EYS

3/4" KO SEAL

3/4" MALE UNION

5 LBS OF SEALING COMPOUND

CONDULET OEC2

CONDULET OELB2

CONDULET OELL2

CONDULET OELR2

CONDULET OET2

EXPLOSION PROOF 1" 3 HUB JB AND COVER

EXPLOSION PROOF 1" LB

EXPLOSION PROOF 1" TO 3/4" REDUCER

EXPLOSION PROOF 3/4" 2HUB JB AND COVER
EXPLOSION PROOF 3/4" 3 HUB JB AND COVER
EXPLOSION PROOF 3/4" 4 HUB JB AND COVER
EXPLOSION PROOF 3/4" HUB 90 DEGREE JB AND COVER
EXPLOSION PROOF 3/4" LB

EYS TOOL KIT

12022: FILL COVER GASKET FOR PETROLEUM MANWAYS
5300N-18: CIVASTAR 5 WIRE REPLACEMENT SENSOR 18”
891A: BOTTOM LOAD VALVES -API VALVE 4” ALUMINUM
GS1000: SAF-T GROUND BOLT KIT

H4137M: BOTTOM GASKET FOR PRODUCT ELBOWS
100-01-1081G: HYTROL VALVE, SS, 1/2” NPT; P/N
131-CP-88C

1448702K CFF21-HS STAINLESS STEEL FLANGE FLOAT ASSEMBLY

15798C: MODEL X134H, DEADMAN HANDLE
1690303B 340AF-4 (3” Flange to SPR)

BRAND NAME:
BUNA-CLARKS
BUNA-CLARKS

UNIT:

EACH
EACH

CAVOTEC- D&M HYDRAULICS EACH

CAVOTEC -D&M
HYDRAULICS
CAVOTEC -D&M
HYDRAULICS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CHE-CLARKS
CIVACON
CIVACON
CIVACON
CIVACON
CIVACON

CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS

CPH_PARTS LIST_2025

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH

PRICE:

s
S

$

W

A2 AR VaRE Vo la R Vo R Vo R R Vol Vo SR Vo N Vol Vo R Vo RE VAR Vo R Vo N Vo RE Vo Vo SRV RE Vol Vo R Vo R R Vol Vo AR Ve R VoRR Vo R Vo RE VAR Vo SR Vol

$

$

134.14
7,491.64

2,422.19

3.92

169,623.65
79.41
12.96
83.76
48.75
79.27
12.16
83.76

104.13
150.42
149.24
156.80
156.80
170.41
157.90
85.56
23.85
173.79
189.16
190.54
196.31
78.95
172.89
19.54
155.26
306.80
54.87
5.17
801.98
3,413.20

3,959.68
1,213.17
706.62

Page 9




2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

20071702J): DRY-BREAK QUICK DISCONNECT MODEL 344GF 3”

20213901F: NOZZLE KIT D-1

20213910E: KIT, RPPT, 353GF CONTROL HD 4 AS
20213913B

NOZZLE REBUILD KIT 343GF
20406502J):CFC2T-C1KX FLOAT

2093251E: FRACTURE RING

20998601E: OUTER PISTON SEAL

20998603C: SEAL, GPH TEF

2221704G 3" MAIN VALVE KIT

2221707K: REBUILD KIT, MAIN HYTROL, BUNA, 8”
2221708H: 10” MAIN VALVEREPAIR KIT
2674701E: CFC2T-C1 REPAIR KIT

27498285B: REPAIR KITS, RPPT SEAT ASSY CPLR, HYD
27508559G 81AF-8

3” — 90-78ABCQS DS.SS.SS.ENP. 150# FL.
341GF-D3M100QDV30 D-3 NOZZLE
341GF-GD1M100QDV30
341GFGVRFD1M100QDV30 NOZZLE

347GF-222F: NOZZLE AND HANDLES

3532730D 1/2" 81-01 CK. REPAIR KIT
4"-50-48BCG DS.SS.SS.ENP. 300# FL. ANGLE PATTERN
4” —43-41ACS DS.SS.SS.ENP. 1504 FL.
40-28-169G

413-11-9D: 413-11AGQ 10" CLA VALVE

72-41-2D: 4” ELECTROLESS NICKEL PLATED DUCTILE IRON MAIN
VALVEWITH STAINLESS STEEL PILOTS, 316SS TUBING AND

FITTINGS

7506192K SOLENOID

75154F: 3/8” DIFFERENTIAL

CONTROL CDHS-18

75413F: MODEL CFF18T-H2 ALUMINUM
79325H: PILOT VALVE

9169801K 3/8" 100-01/81-01 REPAIR KITS
9170003K: 3/8” PILOT CRD REBUILD KIT BUNA

9289155F: X52A-1: 2.40 BORE SIZE, STAINLESS STEEL, ISO # FLAT

FACE

9484002C-CDB-7 10-60 H SS: DIFFERENTIAL CONTROL PILOT, CDB-

7,SS/SS, 10/60 PSI, 'A”

BRAND NAME:

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS

CLA VAL-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH

EACH
EACH
EACH
EACH
EACH

EACH

EACH

w n

A2 RV RR Vol Vo RE Vo R Vol Vo RE VR Vol Vo SR VARE Vo R Vo RE Vo R R Vo il Vo i Vo SR Vo Rl Vo i Vo MR Vol

wn n

v nununun

733.96
186.91
569.23

282.86
1,965.67
472.00
232.80
168.03
381.80
830.56
1,234.40
296.42
186.91
3,215.40
11,042.30
5,961.60
4,541.06
3,795.55
745.76
136.85
4,300.00
9,253.67
7,688.88
17,940.00

10,394.00
557.41
1,129.97
1,139.60
670.33
103.78
97.89

1,770.00

1,782.17

Page 10


http://ds.ss.ss/
http://ds.ss.ss/
http://ds.ss.ss/

2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

9772101D: PRESSURE RELIEF CONTROL PILOT, SS, CRL5A, 20-200,

'‘A” P/N:

CDB-7: REPAIR KIT, VITON

CLA VALVE 40-28-169G

CRA REPAIR KIT, VITON

Pilot Valve #100-01-565K : 100-01 999999TESS 300SG

Pilot Valve #20499608G : 102C-3AH 1/16 ORFH TT 300SG

Pilot Valve #2221705D : KIT,RPPT 100-34KX FUEL VUL 4 NBR

Pilot Valve #70166E : CDHS2B 1/4S TESS 300S
Pilot Valve #7194503E : CRD 1/4S 15-75 TESS 300S
Pilot Valve #7923002F : CRL IS 20-200 TQSS 300S
X52B 3.200 Orifice Plate

4” Main Valve Repair Kit P/n: 2221705D

6” Main Valve Repair Kit P/n: 2221706B
CDHS18 Repair P/n: 9170003K

3/8” Rebuild Assembly P/n: 21302201B

%” Rebuild Kit P/n: 3532730D

P/N: 2221704G 3” Main valve kit
P/N:9170020D CRL Kit

P/N: 20153404F CRA kit

P/N: 21302201B 3/8” 100-01/81-01 Rebuild Assembly
P/N: 20153401) CDB-7 Kit

1/8"X3"X24" TEFLON STRAP

AIR COMPRESSOR RENTAL

CALIBRATION

DELO GREASE

LINE TEST EQUIPMENT RENTAL

MAN LIFT RENTAL

NEW CALIBRATION SEAL

PROVER RENTAL

GAS MONITOR RENTAL

55 GAL DRUM

SMALL SPILL CONTAINMENT RENTAL
TORQUE GUN

HYDRAULIC NUT CUTTER RENTAL

HYDRAULIC FLANGE ALIGNMENT RENTAL
BOAT/KAYAK RENTAL

CHART RECORDER RENTAL

HYDROSTATIC TEST PUMP

40FT CONTAINERS

BRAND NAME:

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS

CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLA VAL-CLARKS
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARKS PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CLARK'S PETROLEUM
CONTAINERS HAWAII

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PER DAY
PER UNIT
EACH
PER DAY
PER DAY

PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
PER DAY
EACH

PRICE:

R R Vo VR Vo R Vol Vo Vo Vo R Vo R Vo VoSl R Vo Vo R Vo Vo Vo R Vol Vo Vot R Vo Vo R R Vo R Vo R Vo R Vo RR R Vo R Vo sR R Vo R VolRi Vo R R VoSl Vo R Vol

1,555.75
135.19
6,573.40
437.37
504.16
845.45

400.38
1,542.66
1,169.73
1,452.86
1,076.40

433.89
612.69
106.35
202.69
148.74
413.49
200.05
191.11
202.28
128.66
17.83
100.00
1,000.00
52.48
200.00
350.00
20.00
1,500.00
105.50
150.00
50.00
150.00
500.00
500.00
500.00
3,000.00
500.00
10,595.65

Page 11



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

] 808 253 8250 / 808 589 8676
E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
341GF-GVR4D3SM60QDV25
341GF-GVR5D1M100QDV30
VLK PUMP

WINGCRFT El 1529 3X10° MM HOSE
1” X 14” M+M DIESEL HOSE ASSY
CPS 12 3/4” NPT 12’ FUEL HOSE

HYDROCARBON 1 ‘A” X 25’
'A” FUEL SUCTION HOSE

INFINITY HD-4X10 FT HOSE ASSY M7F 4” DROP HOSE

N60-1 X 120’

M+I ASSY 1” X 120" RED FUEL HOSE
N-60-1 X 20FT ASSY:

1”X20° M+M RED FUEL HOSE
N60-150 X 70’

1-1/2”X70’ RED FUEL HOSE

WHIP NOSE:

1” X 12

2000 D (AAO5) PUMP & MOTOR ASSY
ROUND SLING

CRANE SERVICES

M30A2-LCR.IQ-I#1 — Meter Assembly
CLA-VAL 540-2

20213901F 341GF REPAIR KIT

B7 BOLT 3/4-10 X 4" SET

D711 6" 150# DURASEAL W/COAT
40-500-300-PSI-1/4 NOSHOK

5025 NOSHOK snubber

GASBOY CONTROL LEVER G003354
GASBOY ROLLING PIN 1/8"X 1-3/8"
GASBOY 035743 Q-SERIES METER
GASBOY M09918A101 10-WIRE RESET
AS517 CLAMPING NUTS SS

STRUT BOLT 1/2 X 125-ST

AS1100AS 3/4" SS

AS100AS 1" SS

FLOWSERVE PRIMING CENTRIFUGAL PUMP

BRAND NAME:
CLA-VAL

CLA-VAL

CLYDE UNION
CONTINENTAL-D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH — D&M
HYDRAULICS
CONTI-TECH- D&M
HYDRAULICS

CORCORAN CO.- D&M

HYDRAULICS

CORODINATED WIRE ROPE

CRANE

LIQUID CONTROLS
CLA VAL-CLARKS
CLA-VAL

D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC
D&M HYDRAULIC

CPH_PARTS LIST_2025

UNIT:
EACH
EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH
EACH
PER DAY
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

$  6,578.83
$  3,795.55
$  61,039.70
$  1,289.48
$ 148.34
$ 99.77
$ 463.74
$ 608.68
$  1,175.11
$ 224.47
$  1,101.28
$ 45.51
$  4,246.10
$ 69.79
$  11,615.00
$  12,844.30
$  12,246.35
$ 231.49
$ 9.34
$  8,466.64
$ 277.51
$ 140.97
$ 149.60
$ 10.48
$ 448.87
$  2,525.14
$ 8.45
$ 2.17
$ 9.55
$ 10.32
$  21,292.38

Page 12



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876
[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

GASKET 3" X 150# DOMESTIC
B8M BOLT 5/8-11 X 3" SET
B8M BOLT 5/8-11 X 3-1/4" SET
PIPE 3" S/40 SMLS-SRL
FLANGE 3" 150# RF WN S/40
ELBOW 90 3" S/40 LR BW
ELBOW 45 3" S/40 LR BW

TEE 3" S/40 BW

POWELL 3" 150 2342 CF8M-316 SWING CHECK VLV

QVA F2-SS 3" 150# BALL VALVE

LONGHORN MEGAFLEX 2"X50FT W/ MxF KAMLOCK

200-AL-SS DIXON

SF21-300-40-47-300.0"-A 3"IDX300"OAL SS
ISOLATION KIT 2" 150# G10

GASKET 2 X 150#

FLANGE 1" 150# RF SW XH A/SA 182 316/L
FLANGE 1" 150# RF THRD A/SA 182 316/L
BUSHING 1" X 1/4" 3M THRD A/SA 182F 316/L
NIPPLE 1" X 12" XH TBE 316/L

WOL 1" X 3-36" 316/L

TEE 2" THRD 3M 316/L

BUSHING 2" X 1" 3M THRD 316/L

B8M BOLT 1/2-13 X 2" SET W/NUT & 2 WSHRS
GASKET 1 X 150# DOMESTIC SPIRAL WOUND
QVA F1-SS 1" 150# SS BALL VALVE
40-500-30/30-PSI-1/2 NOSHOK 4"SS,-30 TO 30
40-500-160-PSI-1/4 NOSHOK 4"SS, 0-160 PSI
DURA-BLOCK 10-12 RUBBER SUPPORT
DURA-BLOCK 10 RUBBER SUPPORT

AS 1100AS 3" STRUT CLAMP 304

RRHS35 DIXON

GORMAN-RUPP RS3A31

DODGE L150X DODGE L150N RUBBER ELEMENT
PUMP ALIGNMENT

ACCUSHIM B

Gammon Mini Deadman GTP8392

FLYGT NP3127.930 4" DISCHARGE

B8M BOLT 5/8-11 X 3-1/2" SET

.25" PLATE STEEL 4X8

0745104-12 VEEDER-ROOT MECH TOTALIZER
11/4 XH SEAMLESS STEEL

BRAND NAME:

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC
CROWN PRODUCTS INC
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S
S
S
S

19.28
26.12
15.98
82.46
277.85
160.08
102.46
154.13
2,066.55
1,521.66
947.09
240.64
4,048.75
64.06
21.84
92.41
76.28
15.39
91.69
49.95
279.71
42.69
15.98
14.08
380.83
212.24
208.29
274.83
156.52
37.16
220.69
14,663.35
81.40
150.00
800.00
220.19
26,595.45
31.76
456.10
1,360.23
487.70

Page 13



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
1" 90 ELL SW, SCH40 316SS
1" F436 WASHER

1" SA106-B A53-B PSL2 DOMESTIC - 1.315" x 0.179" x 20' SRL
1" SS90

1" SS PLUG

1" SS UNION

1" TEE 3000# SW 316SS

1/2" F436 WASHERS

1/2" NUT PROTECTOR CAPS POLYETHYLENE, WITH VERTICAL
SNAP-ON CAP

10" ISOLATION KIT 150#G10

10" SA106-B A53-B PSL2 DOMESTIC- 10.750" x 0.365" x 20' SRL
100-A-SS DIXON

100-DC-SS DIXON

105071 COUPLING HUB 1/2"

1050T1 COUPLING HUB 7/8"

1050710 COVER/GRID ASSEMBLY

1070710 COVER/GRID ASSEMBLY

1070T2 COUPLING HUB 1/4

1070T2 COUPLING HUB 1/8

1-1/2" 150# 1/8" GREEN 700 GASKET
1-1/2" 150# BALL VALVE APOLLI 87A-107-0

1-1/2" 150# FLANGE PROTECTOR - 316SS FLANGE BAND
PROTECTOR WITH GREASE ZERT & VENT PLUG,, 2" WIDE BAND
1-1/2" 1504 ISO KITS- SLEEVE & WASHER SET G10

1-1/2" 150# STUD/NUT KIT ISO LGTH-TEFLON COATED B7 W/2H
FPC BLUE NUTS

1-1/2" 150# WELDNECK FLANGE RF STD

1-1/2" SA106-B A53-B DOMESTIC - 1.900" x 0.200" x 20' SRL
1-1/4" F436 WASHER

1-1/8" F436 WASHER

12" SA106-B A53B PSL2 AML IMPORT BAA - 12.75" x 0.375" x 20

SRL

150-DL-SS- 1-1/2" COUPLER X 150# ASA FLANGE 316SS,
DOMESTIC

150-DP-SS- 1-1/2" 316SS DUST PLUG,

16" SA106-B A53B PSL2 AML IMPORT BAA - 16.00" x .0500" x 20"

SRL

BRAND NAME:
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH

FT
EACH
EACH
EACH
EACH
EACH

EACH
EACH

FT
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH

EACH
EACH
FT

EACH
EACH

FT

EACH
EACH

FT

PRICE:

S
S

v nnumvm:unn

v nunmknunmd:nny,nnnn

W

87.91
0.81

20.16
15.66
8.86
34.49
116.37
0.17

2.98
202.98

117.87
42.24
61.20

223.48

223.48

334.02

594.10

387.88

387.88

3.17

919.14

42.59
39.15

15.34
49.46
25.70
1.27
1.07

133.03

288.98
62.27

232.95

Page 14




2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

18" SA106-B A53-B PSL1 BAA - 18.000" x 0.500" x 20' SRL
2 XH SEAMLESS STEEL PIPE

2" BLACKT

2" FEMALE KAM X FMNPT STAINLESS

2" PLUG

2" SA106-B A53-B DOMESTIC - 2.375" x 0.218" x 20' SRL
2" UNION BLACK

2"DUST CAP S/S

2"X12" NIPPLE 316

200-F-AL

208-060208-02DM 3/8-16X2 1/2 SAE J429 GRADE 8 HEX HEAD CAP SCREW

208-080200-02DM 1/2-13X 2 SAE J429 GRADE 8 HEX HEAD CAP SCREW
2082-16 STEEL PIPE ADPT

2082-2 STEEL PIPE ADPT

241TPS-0241 FUEL SWIVEL

25-500-300-PSI-1/4-MIP GAUGE 2-1/2" LF BM 0-300#
3" BLIND FLANGE 150#

3" SWIVEL PLUS SPACER KIT

3/4 90 ELL SW SCH40 316SS CLASS 3000

3/4" F436 WASHER

3/4" NUT PROTECTOR CAPS POLYETHYLENE, WITH VERTICAL
SNAP-ON CAP

3/4" SS PLUG

3/4" X 1" SS BUSHING

3”7 X 10" AVIATIO HOSE MALEXMALE

300-F-AL

301-06 3/8" X 1" FLAT WASHER

301-08 1/2" X 1 3/8" FLAT WASHER

310-503NL BRONZE FITTINGS

312-06 3/8" LOCK WASHER

312-08 1/2" LOCK WASHER

316-061 S.S. PIPE FTGS.

316-080 3/4" CLOSE NIPPLE

316-090 3/4" X 4" NIPPLE

316-106 S.S. PIPE FTGS.

316SS BASKET STRAINER 3" 150RF

4" 150# 1/8" GREEN 700 GASKET

4" 150# CS BLIND

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

FT
EACH
EACH
EACH
EACH
FT

EACH
EACH
EACH
EACH

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

ARV RE VR Vo Vo RE VRl Vol Vo AR Vo Vol Vo SR Vo RE Vol Vol Vo R VaTal Vo8

2.07

1.88
5.00
0.58
38.57
243.17
31.48
9,534.94
61.94
0.38

4.57
7.08
9.43
614.02
38.19
0.51
0.51
210.96
0.51
0.51
7.69
11.59
40.48
26.33
1,933.34
8.89
67.71

Page 15



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:

4" 150# FLANGE PROTECTOR - 316SS FLANGE BAND PROTECTOR

WITH GREASE ZERT & VENT PLUG, 2" WIDE BAND D&M HYDRAULIC-CLARKS EACH S 53.17
4" 150# STUD/NUT KIT - TEFLON COATED B7 W/2H FPC BLUE

NUTS D&M HYDRAULIC-CLARKS EACH S 31.74
4" BLACK 45 D&M HYDRAULIC-CLARKS EACH S 157.72
4" SA106-B A53-B PSL2 DOMESTIC - 4.500" x 0.237" x 20' SRL D&M HYDRAULIC-CLARKS FT S 31.42
4" UNION BLACK D&M HYDRAULIC-CLARKS EACH S 326.60
4"BLACK 90 D&M HYDRAULIC-CLARKS EACH S 143.67
4"DUST CAP S/S D&M HYDRAULIC-CLARKS EACH S 185.19
4"MALE KAM X MNPT STAINLESS D&M HYDRAULIC-CLARKS EACH S 277.58
400-AL-AL D&M HYDRAULIC-CLARKS EACH S 169.56
416-004 90 FXF NPT D&M HYDRAULIC-CLARKS EACH S 18.96
416-005 S.S.PIPE FTGS. D&M HYDRAULIC-CLARKS EACH S 18.61
416-231S.S. PIPE FTGS. D&M HYDRAULIC-CLARKS EACH S 3.17
416-237 S.S. PIPE FTGS. D&M HYDRAULIC-CLARKS EACH S 24.65
416-474 1/2" X 1/4" BUSHING D&M HYDRAULIC-CLARKS EACH S 5.26
43070001 ELBOW 90 1 THRD 3M D&M HYDRAULIC-CLARKS EACH S 41.24
43070001 ELBOW 90 3/4 THRD D&M HYDRAULIC-CLARKS EACH S 26.94
43070009 UNION 1 THRD 3M D&M HYDRAULIC-CLARKS EACH S 38.50
43070009 UNION 3/4 THRD 3M D&M HYDRAULIC-CLARKS EACH S 27.99
5/8" F436 WASHER D&M HYDRAULIC-CLARKS EACH S 0.26
5/8" NUT PROTECTOR CAPS POLYETHYLENE, WITH VERTICAL

SNAP-ON CAP D&M HYDRAULIC-CLARKS EACH S 3.63
5/8-11 316SS ROD D&M HYDRAULIC-CLARKS EACH S 15.26
5000 VENT 4”RF 150 316 D&M HYDRAULIC-CLARKS EACH S 2,369.00
515SDST0400AV MORRISON SS BOX, 2" INLET, 2" TOP OPENING D&M HYDRAULIC-CLARKS EACH S 10,472.67
6" 150# 1/8" GREEN 700 GASKET D&M HYDRAULIC-CLARKS EACH S 14.93
6" 150# BALL VALVE- KITZ BALL VALVE 6" 150#WCB RF 316 FP FS,

*MODIFY TO INSTALL GEAR OPERATOR D&M HYDRAULIC-CLARKS EACH S 6,915.35
6" 150# CS BLIND - A105 DOMESTIC D&M HYDRAULIC-CLARKS EACH S 103.29
6" 150# FLANGE PROTECTOR - 316SS FLANGE BAND PROTECTOR

W/GREASE ZERT & VENT PLUG, 2" WIDE BAND D&M HYDRAULIC-CLARKS EACH S 61.63
6" 150# STUD/NUT KIT - TEFLON COATED B7 W/2H FPC BLUE

NUTS D&M HYDRAULIC-CLARKS EACH S 41.00
6" CST STYLE 30F SWIVEL W/BUNA SEALS, 150# FLANGE EE+1-

1/2" SOCKELET W/150# FLG D&M HYDRAULIC-CLARKS EACH S 7,213.58
6" SA106-B A53-B PSL DOMESTIC - 6.625"x 0.280" x 20" SRL D&M HYDRAULIC-CLARKS FT S 55.25

CPH_PARTS LIST_2025 Page 16



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

607360-12 PYREX GLASS TUBING 5/8" OD

645-DPB COILHOSE

66519 XL GLOVES

66REC-1000 FUEL BREAKAWAY

7/8" F436 WASHER

7/8" NUT PROTECTOR CAPS POLYETHYLENE, WITH VERTICAL
SNAP-ON CAP

8" 300# 1/8" GREEN 700 GASKET

8" 300# CS BLIND - A105 DOMESTIC

8" 300# CS COOPER VALVES TRUNNION BALL VALVE 316 TRIM
GRAPHITE PACKING, 15% GLASS REINFORCED TEFLIN SEATS &
SEALS, GEAR OPERATED & FIRE SAFE

8" 300# FLANGE PROTECTOR - 316SS FLANGE BAND PROTECTOR

W/GREASE ZERT & VENT PLUG, 2" WIDE BAND

8" 300# STUD/NUT KIT - TEFLON COATED B7 W/2H FPC BLUE
NUTS

8" CST STYLE 30F3 SWIVEL W/BUNA SEALS, 300# FLAGE EE + 1
1/2" SOCKELET W/ 150# FLG

8" SA106-B A53-B PSL DOMESTIC - 8.625" x 0.322" x 20' SRL
8078-F LP 50’Heavy Duty Reel

A216WCB 4" DBB VALVE 150 4" ANSI 150# FRANKLIN DURASEAL

VALVE

FIG.# D711, VITON SLIP SEALS & TRIM, A216
WCB BODY WITH CHROME ID, A350 LF2 PLUG WITH
ENP, A350 LF2 BONNET & LOWER PLATE, A536
DI SLIPS, RAISED FACE FLANGED END, 200
HANDWHEEL OPERATOR & STAINLESS STEEL DTR
ASSEMBLY

***DOES NOT INCLUDE CARBO/PHENO COATING
A216WCB* 10" DBB VALVE

ANSI 150# Franklin DuraSeal Valve

Figtt D711

A234-WPB-W ELBOW 90 4" LR STD WELD
ABSORBENT PAD ENV200

AIR HOSE 3/4" X 100 FT.

AIR HOSE 3/4" X 50 FT.

B7 BOLT 5/8-11 X 3-1/2" SET

B7 BOLT 5/8-11 X 3-1/4" SET

B7 BOLT 5/8-11 X 4" HEAVY HEX

B7 STUD-1/2-13x 2-1/2 w/NUTS (100 PER BOX)

10"

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH

EACH

EACH

EACH

EACH
FT
EACH

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

v un ununvn n

wn n

-

v nunvnunvnnnn

92.92
16.75
27.21
108.77
0.52

5.16
34.26
304.18

23,596.38

73.90

92.31

12,747.06
83.13
554.46

7,139.20

14,395.70
68.86
110.01
365.97
166.99
15.13
18.67
3.53

1.56

Page 17



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

B7 STUD-1/2-13x2-3-/4 w/NUTS (100 PER BOX)
B7 STUD-1-1/4-8x7-1/2 w/NUTS (20 PER BOX)
B7 STUD-1-1/4-8x7-1/4 w/NUTS (20 PER BOX)
B7 STUD-1-1/4-8x7-3/4 w/NUTS (20 PER BOX)
B7 STUD-1-1/8-8x5-1/2 w/NUTS (20 PER BOX)
B7 STUD-1-1/8-8x5-1/4 w/NUTS (20 PER BOX)
B7 STUD-1-8x5 w/NUTS (20 PER BOX)

B7 STUD-1-8x5-1/2 w/NUTS (20 PER BOX)

B7 STUD-1-8x5-1/4 w/NUTS (20 PER BOX)

B7 STUD-3/4-10x3-3/4 w/NUTS (45 PER BOX)
B7 STUD-3/4-10x4 w/NUTS (45 PER BOX)

B7 STUD-3/4-10x4-1/4 w/NUTS (45 PER BOX)
B7 STUD-3/4-10x4-3/4 w/NUTS (45 PER BOX)
B7 STUD-5/8-11x2-3/4 w/NUTS (80 PER BOX)
B7 STUD-5/8-11x3 w/NUTS (80 PER BOX)

B7 STUD-5/8-11x3-1/2 w/NUTS (80 PER BOX)
B7 STUD-5/8-11x3-3/4 w/NUTS (75 PER BOX)
B7 STUD-5/8-11x4 w/NUTS (75 PER BOX)
B7 STUD-7/8-9x4-1/2 w/NUTS (30 PER BOX)

B7 STUD-7/8-9x4-3/4 w/NUTS (30 PER BOX)
B8M BOLT 1/2-13 X 2" SET

B8M BOLT 1/2-13 X 2-1/4" SET

B8M BOLT 3/4-10 X 2" SET

B8M BOLT 3/4-10 X 2-1/4" SET

B8M BOLT 3/4-10 X 3-1/2" SET

B8M BOLT 3/4-10 X 3-1/4" SET

B8M BOLT 3/4-10 X 3-3/4" SET

B8M BOLT 3/4-10 X 4-1/2" SET

B8M BOLT 3/4-10 X 6" SET W/NUT & 2 WSHRS
B8M BOLT 3/4-10X5" SET

B8M BOLT 3/8-16 X 1" SET

B8M BOLT 3/8-16 X 1-1/4" SET

B8M BOLT 5/8-11 X 2" SET

B8M BOLT 5/8-11 X 3" SET

B8M BOLT 5/8-11 X 3-1/4" SET

B8M BOLT 5/8-11 X 3-3/4" SET

B8M BOLT 5/8-11 X 4-1/4" SET

BALL VALVE 1" 150#

BALL VALVE 1-1/2" 150# RP RF POWELL DOMESTIC B501
BALL VALVE 2" 1000#

BALL VALVE 2" 150 316

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S
S
S
S

1.62
28.03
27.45
28.58
16.06
18.81
11.41
12.02
11.70

4.94

5.11

5.29

5.61

2.77

2.89

3.09

3.21

3.32

7.92

8.15
24.21
23.52
42.80
17.91
21.50
43.43
22.07
29.04
37.80
33.58
13.73
14.81
13.26
29.23
40.60
35.02
22.42

713.00
555.34
434.70
2,574.85

Page 18



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

BALL VALVE 2" 150# RP RF POWELL DOMESTIC B501
BALL VALVE 2" THRD 3-PIECE POWELL DOMESTIC B920

BALL VALVE 3" 150# SS

BALL VALVE 3/4" 800#

BALL VALVE 4" 150# CS RP RF
BALL VALVE 6" 150# RF 316 FP
KITZ BALL VALVE 4" 150#
BASEPLATE SS

BASKET STRAIN 2 150 125F-SS
BASKET STRAINER 4” 150 RF SSGFVI 316
BASKET STRAINER 6 150 RF
BENNETT M04920B003 PUMP UNIT
Blackmer HXL6G Sliding Vane Pump
BLIND 1 150 RF CS

BLIND 1" 150#

BLIND 1" 300# RF

BLIND 10" 150# RF

BLIND 10" 300# RF

BLIND 1-1/2"# RF

BLIND 12" 150# RF

BLIND 12" 300# RF

BLIND 14" 150# RF

BLIND 14" 300# RF

BLIND 16" 150# RF

BLIND 18" 150# RF

BLIND 18" 300# RF

BLIND 2 1/2" 150 RF

BLIND 2" 150# RF

BLIND 2" 300# RF

BLIND 3" 150 RF

BLIND 3" 300# RF

BLIND 3/4" 150 RF

BLIND 4" 150# RF

BLIND 4" 300# RF

BLIND 6" 150# RF

BLIND 6" 300# RF

BLIND 8" 150# RF

BLIND 8" 300# RF

BLING 16" 300# RF

BUSHING 1" X 3/4" 3M THD
BUSHING 1/2" X 1/4" THRD 3000#

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

S
S
S
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
$
S
$
S
s
S
$
S
$
S
$
S
$
S
$
S
$
S
s
S
$
S

691.49
816.88
2,722.95
331.87
2,318.00
5,376.25
2,014.31
370.30
4,433.25
3,532.80
20,441.25
1,138.89
6,346.27
75.12
107.43
52.60
285.21
513.88
40.56
429.96
743.00
672.98
1,311.24
900.53
1,224.32
2,210.61
46.23
33.32
43.50
101.42
61.89
79.63
90.47
95.00
91.13
171.42
175.04
258.00
1,752.76
9.13
2.72

Page 19



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

BUSHING 1-1/4" X 1" THRD 3000#
BUSHING 1-12" X 1-1/4" THRD 3000#
BUSHING 2" X 1" THRD 3000#
BUSHING 2" X 1-1/2" THRD 3000#
BUSHING 3/4" X 1/2" THRD 3000#
BUTTERFLY 6" 150 SS LUG

CAP 1" THRD 3000#

CAP 1/2" THRD HX HD

CAP 1/4" THRD 3000#

CAP 1-1/2" THRD 3000#

CAP 1-1/4" THRD 3000#

CAP 2" THRD 3000#

CAP 3/4" THRD 3000#

CAP 3/8" THRD 3000#

CASTER NIV 53-06202-70-1P
CHECK VALVE 1 800 SW 316
CHECK VALVE 2 800 THD 316
CHECK VALVE 3" 150 RF WCB
CLYDE UNION 3x4x8A SIGHT GLASS KIT
CNI MANUFACTURING 8104
COUPLING 1" THRD 3000#
COUPLING 1/2" THRD 3000#
COUPLING 1/4" THRD 3000#
COUPLING 1-1/2" THRD 3000#
COUPLING 1-1/4" THRD 3000#
COUPLING 2" THRD 3000#
COUPLING 3/4" THRD 3000#
COUPLING 3/8" THRD 3000#
CUSTOM IFG-5500 8"

D711 4" 150# DURASEAL CF8M
D711 6" 150# DURASEAL CF8M
DBB VALVE 4" X 150#

DBB VALVE 6" X 150#

DEADMAN HOSE

DENSO PASTE 5.5# TUB
DENSO TAPE 4”

DENSYL MASTIC 6.6# BAG

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PER CASE
OF

4
EACH
PER CASE
OF

6

A2 RV RE Vo Vo iR Vo RE VR Vol Vo R Ve R VolRE Vo SR Ve R VR Vol Vo SR VARE Voli R Ve SR Vo REVoRIE Vo SR Vo RE VR Vol Vo SR VoTRE Vo Rii Vo BIE Vo R VoE Vo R Vo R Vo R R Vol

7.79
8.97
13.47
13.47
3.35
16,346.10
7.92

3.97

3.80
15.24
12.32
21.94
5.16

3.80
1,330.21
1,085.37
2,198.33
732.57
3,457.35
19.71
7.34

3.24

3.96
15.85
12.25
21.17
4.23

3.96
36.33
12,797.74
16,462.79
12,797.74
16,462.79
795.25

253.81
45.08

318.61

Page 20



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

DRILL BIT 27/64"

DRILL BIT 5/16"

ELBOW 90 1" 3000 SW SS
ELBOW 90 1/2" THRD 3000#
ELBOW 90 1/4" THRD 3000#
ELBOW 90 1-1/2" THRD 3000#
ELBOW 90 1-1/4" THRD 3000#
ELBOW 90 2" LR 40S WELD SS
ELBOW 90 3"S/40S

ELBOW 90 3/4" 3000 SW 316
ELBOW 90 3/8" THRD 3000#

ELBOW ASSY, M60/80; 4" RF 150#/275 PSI, ALUM

EMERGENCY PIPE CLAMP 1"

EMERGENCY PIPE CLAMP 10"
EMERGENCY PIPE CLAMP 1-1/2"
EMERGENCY PIPE CLAMP 12"
EMERGENCY PIPE CLAMP 2"

EMERGENCY PIPE CLAMP 4"

EMERGENCY PIPE CLAMP 6"

EMERGENCY PIPE CLAMP 8"

ENV100 ABSORBENTS

EXPORT CRATING

FLANGE 1" 150 RF SW 316

FLANGE 10" 150# WELDNECK RF XH A105
FLANGE 10" 300# WELDNECK RF XH A105
FLANGE 1-1/2" 150# SLIP ON RF A105
FLANGE 1-1/2" 300# SLIP ON RF A105
FLANGE 12" 150# WELDNECK RF XH A105
FLANGE 12" 300# WELDNECK RF XH A105
FLANGE 16" 150# WELDNECK RF XH A105
FLANGE 16" 300# WELDNECK RF XH A105

FLANGE 18" 150# WELDNECK RF XH A105N
FLANGE 18" 300# WELDNECK RF XH A105N/NORMALIZED

FLANGE 2" 150 RF THRD

FLANGE 3" 150#

FLANGE 3" 300# WELDNECK RF XH A105
FLANGE 3/4" 150# RF WN 316

FLANGE 4" ,150,RF,WN,CS,A105
FLANGE 4" 300# WELDNECK RF XH A105
FLANGE 6" 150 RF SW

FLANGE 6" 300# WELDNECK RF XH A105

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

R R VR Vo R Vo Vo R Vo Vo R Vol Vo Vo Vo R Vol Vo R Vo Vo R R Vo Vo R Vo Vo R R Vo Vo R R Vol VR R Vo Vo Vo R VR Vol VSRR Vo VSRR Vo Vo R R VoSl Vo R VoSl Vo R Vo TR R Vo R Vo Rl Vo

12.92
8.97
27.28
9.24
9.96
37.49
29.06
90.85
126.92
11.50
9.96
1,816.17
79.33
1,140.38
89.25
1,189.96
105.77
237.99
545.40
793.31
121.54
2,146.23
144.90
351.82
614.28
32.64
43.83
363.37
622.79
650.33
1,217.42
949.86
2,031.87
153.71
305.27
60.73
61.72
90.78
99.89
89.13
155.59

Page 21



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

FLANGE 8" 150# WELDNECK RF XH A105
FLANGE 8" 300# WELDNECK RF XH A105
FLANGE RINGS SS

Flat Washer: For Screw Size 1/2 in, Stainless Steel, 316, Plain,
0.563 in In Dia, 25 PK

Flat Washer: For Screw Size 3/8 in, Stainless Steel, 316, Plain,
0.438 in In Dia, 50 PK
FLEXSTEEL-75X100FT M/M.S ASY
FLNG BAND PROTECTOR 1" 150#
FLNG BAND PROTECTOR 1/2" 150
FLNG BAND PROTECTOR 2" 150#
FLNG BAND PROTECTOR 3" 150#
FLNG BAND PROTECTOR 4" 150#
FLNG BAND PROTECTOR 6" 150#
FR112 FILL-RITE HAND PUMP
FR702VRU, FILLRITE

FUEL HOSE 2-1/2"X 10’L

FUEL HOSE 2-1/2"X8’L

GARLOCK 39000-2605

GARLOCK 5500 1/8" FULL SHEET
GARLOCK 5500 6" 150# RING
GARLOCK BLUE-GARD 6X150
GARLOCK GREEN GASKET 32-1/2"
GARLOCK IFG 1/8 X 60 X 60

GASKET 1 X 150#

GASKET 1" 300# SPIRAL WOUND
GASKET 1/8" BUNA

GASKET 10" 150# SPIRAL WOUND
GASKET 10" 300# SPIRAL WOUND
GASKET 1-1/2" 150# SPIRAL WOUND
GASKET 12" 150# SPIRAL WOUND
GASKET 12" 300# SPIRAL WOUND
GASKET 14" 150# SPIRAL WOUND
GASKET 14" 300# SPIRAL WOUND
GASKET 16" 150# SPIRAL WOUND
GASKET 16" 300# SPIRAL WOUND
GASKET 18" 150# SPIRAL WOUND
GASKET 18" 300# SPIRAL WOUND
GASKET 2 1/2 X 1504

GASKET 2" 150# SPIRAL WOUND
GASKET 2" 300# SPIRAL WOUND

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

s
S
s

R R VR Vo Vo Vol Vo R Vo R Vo Vot Vo R VoSl Vo Vol R Vo Vo R Vo R Vol R Vo Vo R R Vo R Vol R Vo Vol Vo R Vo si R Vo R Vo sR R Vo R Vo SRR Vo R Vo SRR Vo R R Vo il Vo il Vol

155.47
268.04
328.90

19.10

13.55
730.19
43.05
41.19
45.27
50.28
56.50
67.26
287.06
1,731.31
881.35
899.17
428.04
687.83
100.05
100.56
214.97
667.79
9.34
4.57
378.70
33.98
34.67
6.10
43.54
44.12
49.00
50.54
60.01
62.18
74.26
77.52
7.78
6.44
6.44

Page 22



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

GASKET 3 X 150#

GASKET 3/4 X 150#

GASKET 4 X 150# DOMESTIC

GASKET 4" 300# SPIRAL WOUND

GASKET 6 X 150#

GASKET 6" 300# SPIRAL WOUND

GASKET 8" 150# SPIRAL WOUND

GASKET 8" 300# SPIRAL WOUND

GATE VALVE 2" 800# A105 THD BB HFS

GATE VALVE 3/4" 800# SW

GATE VALVE 4" 150# 316 RF BB

GAUGE 2-1/2" LF BM 0-300#

GAUGE, 4" FACE, LF BTM MOUNT

GEAR OPERATOR 201 COATING

GEAR OPERATOR 301 COATING

GORMAN RUPP RD2A31-B

GRUNDFOS CRN 1-6 3/4HP 1XTE

GTP-534-30S, S/S, 0-30 PSID Gammon DP Gauges
H13520 TUBING CUTTER GLASS

HAMMOND 800-2L ADDITIVE

HAMMOND 800-2L-1P7-1P7 PRIST

HB2520SS 2.5" X 2" BUSHING SS

HERCULES THREAD SEALANT

Hex Head Cap Screw: Stainless Steel, 316, NL-19, 1/2"-13,
Coarse, 3 in Ig, Globally Sourced, 5 PK

Hex Head Cap Screw: Stainless Steel, 316, NL-19, 3/8"-16,
Coarse, 2 in Ig, Globally Sourced, 5 PK

HEX NUT 1/2-13 316

INFINITY HD 4"X10FT HOSE ASY W/FXF KAMLOCK
ISOLATION KIT 1" 150#

ISOLATION KIT 2" 150#

ISOLATION KIT 3" 150#

ISOLATION KIT 4” 150#

ISOLATION KIT 6” 150#

LEAK GAUGE: K-2-64

Lock Nut: Nylon Insert, 1/2"-13 Thread Size, Stainless Steel, 18-8,

Plain, 3/4 in Hex Wd, 10 PK

Lock Nut: Nylon Insert, 3/8"-16 Thread Size, Stainless Steel, 316,

Plain, 9/16 in Hex Wd, 50 PK
LOVEJOY COUPLING
LUCAS OIL 85W140 GEAR OIL

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH

EACH
EACH

PRICE:

2 ARV Vol a R Vo RE Vo R R Vol Vo SR Ve R Vo Vo Vo RE VAR Vol Vo Rk Vo R Vol Vo SR Ve R Vol Vol Vo i Vol VR

R RV RE VoTRE Vol Vo R VoTRE Vol Vo Ak Vol W

wn

v N n

28.93
2.95
40.08
11.15
38.80
17.11
26.35
27.10
251.85
592.55
1,814.70
244.38
430.26
830.70
939.05
16,411.65
2,665.70
717.05
32.20
41,846.80
59,001.81
71.09
18.17

27.95

21.45
1.12
911.65
36.13
41.67
69.18
110.87
124.57
168.26

4.42
11.71

194.51
13.89

Page 23



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
M60AT2-MECH-NP#1
MATERIAL TEST REPORT CERTS.
MOTOR STOOL SS

N2404-12-12 COMP 3/4" x NPT 3/4" STRAIGHT

N2404-4-4

N2500-12 Comp Union 3/4" 90

N2501-4-4

NDP-50BAN

NDP-80BAN

NIPPLE 1" X 4" XH TBE

NIPPLE 1/2" X 4" XH TBE

NIPPLE 1/4" X 4" XH TBE

NIPPLE 1-1/2" X CLOSE XH TBE

NIPPLE 1-1/4" X CLOSE XH TBE

NIPPLE 2 X 12 XH SMLS

NIPPLE 2 X 24 XH SMLS BXT

NIPPLE 2" X CLOSE XH TBE

NIPPLE 3/4" X 4" XH TBE

NIPPLE 3/8" X 4" XH TBE

NUT/BOLT CAP 1" 150#

NUT/BOLT CAP 1/2" 150#

NUT/BOLT CAP 2" 150#

NUT/BOLT CAP 3" 150#

NUT/BOLT CAP 4" 150#

NUT/BOLT CAP 6" 150#

PADDLE BLIND 1" 150# T-HANDLE 1/4" THK
PADDLE BLIND 10" 150# T-HANDLE 1/4" THK
PADDLE BLIND 10" 300# T-HANDLE 1/4" THK
PADDLE BLIND 1-1/2"# T-HANDLE 1/4" THK
PADDLE BLIND 12" 150# T-HANDLE 1/4" THK
PADDLE BLIND 14" 150# T-HANDLE 1/4" THK
PADDLE BLIND 16" 150# T-HANDLE 1/4" THK
PADDLE BLIND 18" 150# T-HANDLE 1/4" THK
PADDLE BLIND 2" 150# T-HANDLE 1/4" THK
PADDLE BLIND 3" 150# T-HANDLE 1/4" THK
PADDLE BLIND 4" 150# T-HANDLE 1/4" THK
PADDLE BLIND 6" 150# T-HANDLE 1/4" THK
PADDLE BLIND 6" 300# T-HANDLE 1/4" THK
PADDLE BLIND 8" 150# T-HANDLE 1/4" THK
PADDLE BLIND 8" 300# T-HANDLE 1/4" THK
PIPE 1" S/80 316

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

$

2RV Vol Vo R VR R Vol Vo AR Vo R ValRR Vo R Ve RE Vo Vo Vo RE VR Voli R Vo RE Vo R VoRaE Vo SR Vo RE Vol Vo Vo REVoTRE Vo R Ve RE Vo R Vol Vo SR VAR Vol Vo RE Vo R VoRRE Vo SR Vo R Vol Vo d

22,833.25
248.49
822.25

38.69
32.33
82.46
49.37
1,947.44
2,976.06
10.12
6.84
12.13
9.30
7.94
46.30
73.37
10.64
7.67
13.40
962.21
218.83
335.17
342.41
1,602.04
66.57
25.83
92.69
135.66
28.43
112.93
150.10
168.70
209.68
28.43
39.25
46.29
63.63
57.43
92.76
77.98
67.09

Page 24



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876
[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
PIPE 2" S/80 SMLS-BE-DRL
PIPE 3/4" 316SS

PIPE 4" S/40 CS

PIPE 6" S/40 SMLS

PIPE CLAMP 089602

PIPE CLAMP 089885 6”BUNA-N 400PSI|

PIPE CLAMP 3" 316

PIPE CLAMP 4" 316

PLUG 1" THRD RD HD

PUMP BLACKMER SLIDING VANE 6" ANSI FLANGE
PW HOSE ASSY

RAGS — TSHIRT 50#

REPAIR KIT FOR VIT500-PUMP 3X4-8" ASSEMBLY
SLEEVE & WASHER KIT 3” X 150#

SOCKOLET 3/4 6000 SW CS
SOCKOLET,1",3000,CS,A105

SS BUSH 3/4, 416-484

SS CAPS 3/4, 416-124

SS FLEX HOSE W/BRAID 2" X 30"

SS NIPP 3/4 X 4, 316-086

SST -16 X 065 1” SS TUBING

SST -8 X 065 1/2” SS TUBING

SST-4X.065

Standard U-Bolt: 316 Stainless Steel, Plain, 3/8"-16 Thread Size, 2

in Inside Wd/Dia, 3 in Inside Ht
STEEL PIPE ADPT

STRUT 1-5/8"X1-5/8"X10' 316
STUD 1/2 X 2-1/2 W/ NUTS 316
STUD 1/2 X 3-1/4 W/ NUTS 316
STUD 3/4 X 4 3/4 W/NUTS 316
STUD 3/4 X 5-1/4 W/NUTS 316
STUD 5/8 X 3 1/2 W/NUTS 316
STUD 5/8 X 3 3/4 W/NUTS 316
STUD 5/8 X 3-1/4 W/NUTS 316
STUD 5/8 X 4-1/4 W/NUTS 316
STUD SS 3/4 X 4 W/NUTS

TAP TPR 1/2" - 13

TAP TPR 3/8"-16

BRAND NAME:
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH

PER FOOT

PER FOOT
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

W

R SRV Vol a R Vo R Vo RE VolRR Vo SR Vo b Vo Vol Vo SR VAR VoliR Vo Rk Vo RE VoIS Vo R Ve R Vo R Vol

RV RE VR Vo E Vo REVATRE Vo Vo RE Vo R Vil Vo SR Vo R Vol Va8

61.25
34.07

53.25

36.97
225.40
427.80
39.46
57.62
5.12
48,654.76
426.38

86.94

1,472.00

55.32

25.07

14.55

11.01

9.79
504.51
21.78
26.08

17.01

35.51
5.51
531.30
12.05
12.89
25.66
29.67
18.24
17.14
14.82
19.16
17.14
12.82
10.34

Page 25



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

TB WOOD'S Quick Detachable Bushing: SF, 1 3/4 in Bore Dia., 2 in

Lg, 3.875 in Bolt Circle Dia

TGC120 Inflator Gauge w/ Dual Chuck, 10-120 PSI
THR ROD 1/2"72" 316

TOOLS- 555E ALEMITE

VEEDER ROOT 7269 PMP 38021

VEEDER ROOT 747104-163 PMP 13005-3
VIT500-PUMP 1.5X3-6"ASSEMBLY
VIT500-PUMP 3X4-8" ASSEMBLY

WASHER 1/2" FLAT 316

WAYNE METER 2PM-6 PMP 26002-D

WEIL MODEL 1303 VERTICAL WASTEWATER PUMP
2087-4-360404-36044-36 STEEL TEFLON AY
316-184S.S. PIPE FTGS.

416-511S.S. PIPE FTGS.

APOLLO 77CLF-A 1/2" BALL VLV

B7 BOLT 5/8-11 X 3" SET

BLIND FLANGE 4" 1504 RF

CHECK VALVE 3" 150 RF WCB KITZ 150SC, 3" SWING CHECK
COPPER TUBE 1/2" X 10’

COUPLING 1/2" COPPER

ELBOW 90 1/2" COPPER

FENDER WASHER 3/8" X 1-1/2"

FLANGE 4" 150 RF WN S40 SS

GASBOY LEAF ACTUATOR

GASBOY RESET SWITCH

GASBOY VR ELEC RESET

GASKET 2 X 150#

HB3025SS 150#316SS BSHG DIXON
INTEGRAL BONNET 3/8" SS NEEDLE VALVE
ISOLATION KIT 2" 150# G10

N2403-6-6-SS SS Comp Union

N2404-6-6 COMP 3/8" x NPT 3/8" STRAIGHT
N2500-6 Comp Union 3/8" 90

N2500-6 SS Comp Union

OATEY H-20 SOLDER FLUX PASTE

OATEY TIN SOLDER 1 LBS.

PIPE SADDLE SUPPORT 4"

PLUG 1/2" RD HD THRD 3000#

PLUG 1/4" RD HD THRD 3000#

PLUG 1/8" 3000# THRD 316L

BRAND NAME:

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

A2 ARV Vol Vo R Vo R R Vol Vo SR Vo R Vo R R Vo Vo SR VAR Vol Vo Rk Vo R VoRIR Vo SR Ve RE VIR Vo RE Vo R R Vol Vo R Ve RE Vo RE Vo lin Vo SR VAR Vo R Vo RE Vo R Vol Vo R Ve BE VAR Vo R Vo Rk ValRE Vol Vs 8

73.54
78.43
45.59
72.89
680.30
633.78
22,863.15
26,272.12
2.66
622.51
8,941.25
39.18
60.27
82.29
71.52
8.99
23.06
670.34
86.20
2.85
4.30
1.44
349.04
31.55
91.58
1,180.52
21.84
114.73
357.07
64.06
30.58
13.66
26.65
43.97
22.02
64.40
1,950.89
2.72
3.24
1.81

Page 26


mailto:STRAIGHT@$13.66

2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

PLUG 1-1/2" RD HD THRD 3000#

PLUG 1-1/4" RD HD THRD 3000#

PLUG 2" RD HD THRD 3000#

PLUG 3/4" 3000# THRD 316L

PLUG 3/8" RD HD THRD 3000#

PLUG 4" THRD HX HD

QVA F2-CS 3" 150#

QVA F2-CS 4" 150#

RB200BL 2" CAM LOCK SS

SBC300SS DIXON BOLT BREAKAWAY

SOCKOLET 1" X 3 TO 36" SW 3000#

SOCKOLET 1-1/2" X 6" TO 36" SW 3000#
SOCKOLET 2" X 8" TO 36" SW 3000#

SPEC BLIND 4" 150#

SS-12-RB-8 SS BUSHING 3/4" X 1/2" NPT BUSHING
SS-4-HN 1/4" SS NIPPLE

SS-6-HN 3/8" SS NIPPLE

SS-810-1-8 SS TUBE CONNECT 1/2" COMP X 1/2" NPT
SS-8-RB-4 SS BUSHING 1/2" X 1/4" BUSHING
SS-8-RB-6 SS BUSHING 1/2" X 3/8" BUSHING
SS-8-T TEE 1/2

SSLBV25 DIXON

SSLBV50 DIXON

SSLBV75 DIXON

SST-12X.049 STAINLESS TUBE

SST-6X.049 STAINLESS TUBE

SST-8X.049 STAINLESS TUBE

STUD 5/8 X 3-1/2 W/NUTS 316 B8M W/8M NUTS

SWING CHECK 4" 150# BONNEY 161, 4" SWING CHECK VALVE

T1" 1" 3000 SW SS
T20150-G5S GAS BOY METER
T50D-6-110606-110606-60 200 RYCO ASSY
TANK TRUCK HOSE-2 X100’
TANK TRUCK HOSE-2 X25’
TANK TRUCK HOSE-2 X50’
TANK TRUCK HOSE-3 X100’
TANK TRUCK HOSE-3 X25’
TANK TRUCK HOSE-3 X50’
TEE 1" 3000 SW SS

TEE 1/2" THRD 3000#

BRAND NAME:

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

A2 R VR Vo R Vo RE VR Vol Vo SR VAR Vol Vo SRV RE VoRRE Vo R VR R Vo R Vo i Vo SR VARE Vo iR Vo R Vo R R Vol Vo Rk Vo L Vo Rl Vo R Vo BE Vol

R2 R VARE VolR R Vo Rl Vo R R Vol Vo SR Vo N Vo Rl Vo R Vo BE Vol

10.68
9.58
15.87
6.75
3.24
91.38
1,042.69
1,573.81
158.38
3,445.03
25.38
22.61
25.71
243.94
42.01
16.95
23.89
43.35
29.90
31.11
156.19
43.06
40.14
68.65
19.66
8.88
15.03
18.33

994.99
187.91
1,396.43
66.57
2,235.79
610.65
1,152.36
3,348.55
885.57
1,679.63
115.58
12.09

Page 27



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876
[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

TEE 1/4" THRD 3000#

TEE 1-1/2" THRD 3000#

TEE 1-1/4" THRD 3000#

TEE 2" THRD 3000!

TEE 3/8" THRD 3000#

TEE, 3/4" 3000# SW

THREADOLET 1" X 3" TO 36" 3000# THRD
THREADOLET 1-1/2" X 6" TO 36" 3000# THRD
THREADOLET 2" X 8" TO 36" 3000# THRD
TTB50 DIXON

UNION 1" SW 3000#

UNION 1/2" THRD 3000#

UNION 1/4" THRD 3000#

UNION 1-1/2" SW 3000#

UNION 1-1/2" THRD 3000#

UNION 1-1/4" THRD 3000#

UNION 2" SW 3000#

UNION 3/4" 3000# THRD 304/L

UNION 3/8" THRD 3000#

VACUUM RELIEF VALVE 1202B

VALVE COATING

Veeder Root 0745104-12

VEEDER ROOT 0745104-12 MECH TOTALIZER
WAYNE 000-902017

WAYNE 001-921053

WAYNE 00-509584

WAYNE 889692-001

WAYNE 889840-001

WAYNE 889851-001

WAYNE 889852-001

WAYNE 889863-001

WAYNE 889864-001

WAYNE 889866-001

WAYNE DOOR PANEL / SS DOOR PANEL CG200
WELDOLET 1" X 2" TO 36" BW STD
WELDOLET 1-1/2" X 4" TO 36" BW STD
WELDOLET 2" X 8" TO 36" BW STD
WINGCRAFT 21/2X10 FT ASY

Electrical Pit Covers

GRISWOLD 811M Pump

GASBOY 9853KX

BRAND NAME:

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S
S

:

12.09
47.15
37.60
56.73
12.09
23.00
13.02
20.65
23.50
1.89
24.29
15.03
16.82
41.04
41.42
34.74
59.10
30.70
33.80
9,530.48
452.67
798.26
798.26
1.10
0.88
1.10
16.68
35.77
7.84
3.34
53.35
7.84
17.36
1,429.12
24.88
29.56
26.55
939.50
5,765.25
21,356.67

S 7,883.23

Page 28



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

241TPS-1000

7H-5100

68EZR-1010

OPW 6102-1000

FLEXSTEEL 1"X14FT HOSE ASSY

FLEXSTEEL 1" WHIP HOSE ASY

UNION 2" 3000 THRD

UNION 1 1/2" 3000 THRD

OPW 10 PLUS SERIES 1-1/2 SHUT-OFF

355-140 PIPE NIPPLE

350-007 MALLEABLE PIPE

350-447 MALLEABLE PIPE

JET LUBE 550 EXTREME 1 LB. BRUCH TOP
ISOLATION KIT 4" 150# G10

200-AL-SS DIXON

150-AL-SS DIXON

200-DC-SS DIXON

150-DC-SS DIXON

1510-D-SS DIXON

150-DP-SS DIXON

B8M BOLT 5/8-11 X 3" SET W/NUT & 2 WSHRS
B8M BOLT 5/8-11 X 2-3/4" SET W/NUT & 2 WSHRS
B8M BOLT 5/8-11 X 2-1/2" SET W/NUT & 2 WSHRS
B8M BOLT 5/8-11 X 4" SET W/NUT & 2 WSHRS
B8M BOLT 1/2-13 X 2-1/4" SET W/NUT & 2 WSHRS
B8M BOLT 1/2-13 X 2" SET W/NUT & 2 WSHRS
B8M BOLT 1/2-13 X 1-3/4" SET W/NUT & 2 WSHRS
FLNG BAND PROTECTOR 1/2" 150 316SS, 1"W BAND
NUT/BOLT CAP 1/2" 150# W/GREASE

FLNG BAND PROTECTOR 3/4" 150 316SS, 1"W BAND
NUT/BOLT CAP 3/4" 150# W/GREASE

FLNG BAND PROTECTOR 1" 150# 316SS, 2"W BAND
NUT/BOLT CAP 1" 150# W/GREASE

FLNG BAND PROTECTOR 1-1/2" 150# 316SS
NUT/BOLT CAP 1-1/2" 150# W/GREASE

FLNG BAND PROTECTOR 2" 150# 316SS, 2"W BAND
NUT/BOLT CAP 2" 150# W/GREASE

FLNG BAND PROTECTOR 2-1/2" 150# 316SS
NUT/BOLT CAP 2-1/2" 150# W/GREASE

FLNG BAND PROTECTOR 3" 150# 316SS, 2"W BAND
NUT/BOLT CAP 3" 150# W/GREASE

BRAND NAME:

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:
$ 91.40
$ 22894
$  204.63
$ 359.74
$  307.60
$  118.86
$ 41.31
$ 31.55
$ 1,096.65
$ 7.42
$ 18.17
$ 44.73
S 43.36
$ 93.59
S 269.52

$ 232.03

S 122.12

$ 103.51

S 385.32

$ 66.26
S 10.51
$ 9.64
S 9.28
$ 11.79
S 5.76
$ 5.58
$ 5.22

$ 48.45
$ 575.10

$ 49.51
S 128.68

$ 42.42
$  1,656.27

$ 43.16
S 114.65

$ 45.27
S 294.18

$ 48.31
S 104.18

$ 37.64
$ 171.51

Page 29



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

FLNG BAND PROTECTOR 4" 150# 316SS, 2"W BAND

NUT/BOLT CAP 4" 150# W/GREASE
N2501-8-6 COMP 1/2" x NPT 3/8" 90
N2404-6-8 SS COMP NPT
N2403-6-6-SS Comp Union 3/8"
N2403-12-12-SS

N2500-12 Comp Union 3/4" 90

N2404-12-12 COMP 3/4" x NPT 3/4" STRAIGHT

SST-12X.049 STAINLESS TUBE
AS1200AS 3/4" TUBING CLAMP
MH20 DIXON

STRUTS 1-5/8" X 1-5/8"
NC0650-500_ COILHOSE
GASBOY 9153K DISPENSER
OPW 10 PLUS SERIES
241TPS-1000 FUEL SWIVEL
7H-5100 FUEL NOZZLE
68EZR-1010 FUEL BREAK-AWAY
OPW 6102-1000 HOSE RETRACTOR
CNI MANUFACTURING 8104
FLEXSTEEL 1"X14FT HOSE ASSY
FLEXSTEEL 1" WHIP HOSE ASY
ELBOW 90 1-1/2" 150# BLACK THRD
NIPPLE 1-1/2" BLACK S40
UNION 1 1/2" 3000 THRD
NIPPLE 3/4 X 4 XH SMLS

NIPPLE 3/4 X 6 XH SMLS

NIPPLE 3/4 X CLOSE XH SMLS
BUSHING 1 X 3/4 3M THRD
COUPLING 1"X 3/4" REDUC 3000
UNION 1" 3000 THRD

ELBOW 90 3/4" THRD
HJKCTO070-RED 3/4 X 50 300PSI
NDP-25BAN DIAPHRAGM PUMP
100-F-AL DIXON

WB1 DIXON

AC1 DIXON

TEXCEL HBR4 1" X 25!

F401 LUBE EQUIPMENT
FLEXSTEEL 3/4"X20FT ASSY
2015-B-AL DIXON

BRAND NAME:

D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULICS-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

s
S

v uvnunuvunuey;nuoonnnnu;ennuve;onnuv;nnu;nnuv;onnuv;nuvnnuv;onnunnnunnunonnennnnnon

56.50
1,543.16
50.53
25.72
57.66
93.23
63.58
68.65
33.29
14.27
2.08
32.18
645.72
8,877.60
331.41
91.40
228.94
204.63
359.74
16.52
307.60
118.86
18.88
8.16
31.55
15.59
18.84
9.00
4.25
34.27
18.83
9.45
136.40
1,119.55
16.02
19.40
0.49
337.95
126.95
240.25
62.04

Page 30



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876
[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

TTB100 DIXON

POWELL 6" 150# 1561

SLIDELOK 74 CPLG 6"

GRUVLOK CAP 6"

B7 BOLT 3/4-10 X 3-1/2" SET

GASKET 6 X 150# DOMESTIC

FLANGE 6" 150 RF WN STD

POWELL 3" 150# 1561

GASKET 3" X 150# DOMESTIC
ISOLATION KIT 3" 150# G10

B8M BOLT 5/8-11 X 3-1/4" SET
SST-4X.049 STAINLESS TUBE
N2404-4-4 COMP 1/4" x NPT 1/4" STRAIGHT
N2501-4-4 COMP 1/4" x NPT 1/4" 90
N2403-4-4-SS Comp Union 1/4"
N2500-4 Comp Union 1/4" 90
FLOWSERVE PRIMING CENTRIFUGAL PUMP
GASKET 3" X 150# DOMESTIC

B8M BOLT 5/8-11 X 3" SET

B8M BOLT 5/8-11 X 3-1/4" SET

PIPE 3" S/40 SMLS-SRL

FLANGE 3" 150# RF WN S/40

ELBOW 90 3" S/40 LR BW

ELBOW 45 3" S/40 LR BW

TEE 3" S/40 BW

POWELL 3" 150 2342 CF8M-316 SWING CHECK VLV

QVA F2-SS 3" 150# BALL VALVE

LONGHORN MEGAFLEX 2"X50FT W/ MxF KAMLOCK

200-AL-SS DIXON

SF21-300-40-47-300.0"-A 3"IDX300"OAL SS
ISOLATION KIT 2" 150# G10

GASKET 2 X 150#

FLANGE 1" 150# RF SW XH A/SA 182 316/L
FLANGE 1" 150# RF THRD A/SA 182 316/L
BUSHING 1" X 1/4" 3M THRD A/SA 182F 316/L
NIPPLE 1" X 12" XH TBE 316/L

WOL 1" X 3-36" 316/L

TEE 2" THRD 3M 316/L

BUSHING 2" X 1" 3M THRD 316/L

B8M BOLT 1/2-13 X 2" SET W/NUT & 2 WSHRS
GASKET 1 X 150# DOMESTIC SPIRAL WOUND

BRAND NAME:

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

R R VR Vo R Vo Vo R Vo Vo R Vol Vo Vo Vo R Vol Vo R Vo Vo R R Vo Vo R Vo Vo R R Vo Vo R R Vol VR R Vo Vo Vo R VR Vol VSRR Vo VSRR Vo Vo R R VoSl Vo R VoSl Vo R Vo TR R Vo R Vo Rl Vo

3.05
1,758.52
112.57
86.46
12.31
38.80
108.41
755.69
19.27
69.18
15.98
17.05
32.31
49.37
29.28
34.93
21,292.38
19.28
26.12
15.98
82.46
277.85
160.08
102.46
154.13
2,066.55
1,521.66
947.09
240.64
4,048.75
64.06
21.84
92.41
76.28
15.39
91.69
49.95
279.71
42.69
15.98
14.08

Page 31



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876
[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

QVA F1-SS 1" 150# SS BALL VALVE
40-500-30/30-PSI-1/2 NOSHOK 4"SS,-30 TO 30
40-500-160-PSI-1/4 NOSHOK 4"SS, 0-160 PSI
DURA-BLOCK 10-12 RUBBER SUPPORT
DURA-BLOCK 10 RUBBER SUPPORT

AS 1100AS 3" STRUT CLAMP 304

RRHS35 DIXON
TEXCEL HBR 1" X 50’

U100-F-AL

PADDLE BLIND 12" 150# T-HANDLE 1/4" THK
PADDLE BLIND 10" 150# T-HANDLE 1/4" THK
PADDLE BLIND 8" 150# T-HANDLE 1/4" THK
PADDLE BLIND 6" 150# T-HANDLE 1/4" THK
PADDLE BLIND 4" 150# T-HANDLE 1/4" THK
PADDLE BLIND 12" 300# T-HANDLE 1/4" THK
PADDLE BLIND 10" 300# T-HANDLE 1/4" THK
PADDLE BLIND 8" 300# T-HANDLE 1/4" THK
PADDLE BLIND 6" 300# T-HANDLE 1/4" THK
PADDLE BLIND 4" 300# T-HANDLE 1/4" THK
12" 300# GARLOCK GREEN GASKET

12" 150# GARLOCK GREEN GASKET

10" 300# GARLOCK GREEN GASKET

10" 150# GARLOCK GREEN GASKET

8" 300# GARLOCK GREEN GASKET

8" 150# GARLOCK GREEN GASKET

6" 300# GARLOCK GREEN GASKET

6" 150# GARLOCK GREEN GASKET

4" 300# GARLOCK GREEN GASKET

4" 150# GARLOCK GREEN GASKET

B7 BOLT 7/8 X 6-1/2" SET

B7 BOLT 7/8 X 6" SET

B7 BOLT 3/4 X 5-1/2" SET

B7 BOLT 5/8- X 4-1/2" SET

.25" PLATE STEEL 4X8

GARLOCK 5500 1/8" FULL SHEET

Bradley Pedestal-Mount Halo Eyewash $19214B
Bradley Drench Hose $19-430

PIPE 1/2" SC40 316 SML-PE

ANCHOR BOLTS

ASC QVA SX-SS 1-1/2"

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

R R VR Vo RE Vo Vo R Vo R VoRR Vo Vo Rk Vo Vo R VaE Vo R Vo Vo Vo R Vo R Vo Vo RR Vo R Vo R Vo Rk Vo R R Vo Vo R Vo R Vo R Vo RE Vol R Vol Vol R Vo R Vo R R Vol Vo R Vol Vo R Vol Vo R Vol

380.83
212.24
208.29
274.83
156.52

37.16

220.69
647.41

9.55
124.22
101.96
102.04

69.99
50.92
176.36
149.23
85.78
63.17
57.43
93.35
70.79
70.67
54.07
50.08
37.44
33.24
27.16
20.28
16.16
10.20

9.64

4.20

3.72
501.71
756.61
824.64
501.73

7.63

15.70
231.81

Page 32



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

1) 808 253 8250 / 808 589 8676

4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

Legend Hose Bibb 107-263NL 1/2" T-531HP NO LEAD HEAVY HB

416-143 S.S. PIPE FTGS.

416-003 S.S. PIPE FTGS.

416-492S.S. PIPE FTGS.

416-103 S. PIPE FTGS.

416-083 S. PIPE FTGS.

PADDLE BLIND 1" 300# T-HANDLE 1/4"
PADDLE BLIND 1" 150# T-HANDLE 1/4"
GLS430 DIXON

NOSHOK 45-760-400-PSI-CC 4-1/2" GAUGE
T30D-6-360606-380606-42.5 200 RYCO ASSY
T30D-6-360606-380606-50.5 200 RYCO ASSY
2090-4 STEEL PIPE ADPT

2081-8-4 STEEL PIPE ADPT

2081-8-6 STEEL PIPE ADPT

2083-4 STEEL PIPE ADPT

AM3 DIXON

2081-6-4 STEEL PIPE ADPT

2081-12-4 STEEL PIPE ADPT

2081-16-4 STEEL PIPE ADPT

3/4 X 50 300PSI HOSE

NDP-25BAN DIAPHRAGM PUMP

TEXCEL HBR 1" X 50° W/M X F KAMLOCK
U100-F-AL

T200 DIXON

355-104 PIPE NIPPLE

350-628 MALLEABLE PIPE

FLEXWING PETROLEUM 2"X25FT

113-141 FNPT x FNPT
T50D-4-100404-110404-300 200 RYCO ASSY
TTB75 DIXON

TTB100 DIXON

2081-24-4 STEEL PIPE ADPT

2096-24 STEEL PIPE ADPT
T50D-4-100404-110404-100 200 RYCO ASSY
AMC1 DIXON

MP38300-25C INDUSTRIAL HOSE

2021-4 STEEL JIC ADPT

900599-4 STEEL JIC ADPT
T50D-8-110808-160808-300 200 RYCO ASSY

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

A2 ARV Vol Vo R Vo R R Vol Vo SR Vo R Vo R R Vo Vo SR VAR Vol Vo Rk Vo R VoRIR Vo SR Ve RE VIR Vo RE Vo R R Vol Vo R Ve RE Vo RE Vo lin Vo SR VAR Vo R Vo RE Vo R Vol Vo R Ve BE VAR Vo R Vo Rk ValRE Vol Vs 8

22.73
22.12
8.99
25.29
11.65
6.47
30.57
22.87
38.57
585.55
61.22
64.87
6.08
2.69
2.03
1.39
5.14
2.00
4.03
7.43
136.40
1,060.98
623.54
9.19
70.41
5.44
13.06
649.38
44.06
154.91
291
3.05
25.45
32.13
73.75
8.49
73.37
6.51
0.82
213.42

Page 33



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

350-648 MALLEABLE PIPE

350-631 MALLEABLE PIPE

U400-A-AL

B7-7/8-9X7 W/NUTS FASTENERS
F436 7/8" HARDENED WASHER
B7-7/8-9X6 1/2 W/NUTS FASTENERS
B7-7/8-9X6 W/NUTS FASTENERS
B7-3/4-10X5 1/2 W/NUTS FASTENERS
B7-5/8-11X4 1/2 W/NUTS FASTNERES
ANVIL CAP 3/4" 3000 THRD

ANVIL PLUG 3/4" 3000 THRD

ANVIL CAP 1" 3000 THRD

ANVIL PLUG 1" 3000 THRD
B7-7/8-9X5 W/NUTS FASTENERS
B7-3/4-10X4 1/4 W/NUTS FASTENERS
GARLOCK 700 8" X 150# RING 1/8"THK
GARLOCK 700 8" X 150# RING 1/8"THK
GARLOCK 700 10" X 150# RING 1/8"THK
B7-7/8-9X6 W/NUTS FASTENERS
B7-7/8-9X4 W/NUTS FASTENERS
B7-7/8-9X4 3/4 W/NUTS FASTENERS
B7-7/8-9X5 1/2 W/NUTS FASTENERS
B7-3/4-10X3 1/2 W/NUTS FASTENERS
B7-3/4-10X5 W/NUTS FASTENERS
B7-5/8-11X3 1/2 W/NUTS
B7-3/4-10X4 1/4 W/NUTS

F436 7/8" HARDENED WASHER

F436 3/4" HARDENED WASHER
GASKET 4 X 150#

GASKET 6 X 150#

BALL VALVE 4" 150# CS RP RF
REDUCER 6" X 4" (CONC) 150#

B7 BOLT 7/8-9 X 2-1/2" SET

B7 BOLT 7/8-9 X 4-1/2" SET

B7 BOLT 7/8-9 X 4-1/4" SET

B7 BOLT 7/8-9 X 3-1/2" SET

B7 BOLT 7/8-9 X 5-1/4" SET

B7 BOLT 7/8-9 X 5" SET

GASKET 12 X 150# DOMESTIC
GASKET 10 X 150# DOMESTIC

D711 12 150# DURASEAL

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S
S
S
S

59.59
23.74
28.29
10.21
0.55
9.82
9.28
4.05
3.58
6.09
3.32
9.35
4.85
8.38
5.29
19.67
15.46
22.34
9.28
7.45
8.15
8.82
4.80
5.79
3.50
5.98
0.55
0.42
29.10
18.72
1,336.67
253.21
11.73
11.79
12.02
9.13
13.46
12.57
106.44
83.26
12,359.45

Page 34



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

D711 10 150# DURASEAL

FRANKLIN MOTOR ADAPTER

SCE 6x8x11H (OH2) Pump
ELECTROMECHANICAL STARTERS RELAY
LOKRING, 4" TOOL, PUMP, HOSE RENTAL

PIPE 4" STD CS SMLS-SRL A106-B

D711 4" 150# DURASEAL W/COAT A216 WCB
QVA F1-SS 2" 150# BALL VALVE

QVA F1-CS 4" 150# BALL VALVE

QVA F1-CS 3" 150# BALL VALVE

TEE (RED) 4" X 2" STD BW A234 WPB

FLANGE 4" 150 RF WN STD A105

ELBOW 90 4" STD LR BW A234 WPB

TEE 4" STD WELD A234-WPB-S

BLIND 4" 150 RF A105

POWELL 4" 150# 1561 WCB CHECK VALVE
200-AL-SS DIXON

200-DC-SS DIXON

FH-DJ-2 1/2-50-ALUM-NST FIRE HOSE

GASKET 4 X 150# DOMESTIC SPIRAL WOUND
B7 BOLT 5/8-11 X 3-1/4" SET W/NUT & 2 WSHRS
B7-5/8-11X3 1/2 W/NUTS FASTENERS
ISOLATION KIT 2" 150# G10

GASKET 2 X 150# DOMESTIC SPWD

B8M BOLT 5/8-11 X 3" SET W/NUT & 2 WSHRS
LOKRING MAS-3000-TEE-P64 4" CS TEE
LOKRING MAS-3000-CPL-P64 4" CS CPLG
LOKRING MAS-3000-FLNG150-P64 4" CS 150# FLNG
LOKRING MAS-3000-EL90-P64 4" CS ELBOW 90
LOKRING MAS-3000-EL45-P64 4" CS ELBOW 45
FREIGHT

STRUTS 1-5/8" X 1-5/8"

AS517 CLAMPING NUTS SS

STRUT BOLT 1/2 X 125-ST

AS3013FL SINGLE POST BASE

AS1300AS PIPE CLAMP 4"

1/2 in. x 4-1/4 in. Carbon Steel Stainless Still Wedge Hex Head

46lbs. Wedge Anchor (25-Pack)
3-0044 OPW 1-1/2" VENT CAP
BELZONA 1212 - 450G

355-150 PIPE NIPPLE

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH

PRICE:

S
S
S
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
$
S
$
S
s
S
$
S
$
S
$
S
$
S
$
S
$

v n nun

9,681.29
577.88
144,005.99
81,604.27
2,396.45
20.80
5,607.69
663.46
1,259.40
783.36
103.93
55.86
54.84
117.39
59.87
1,185.98
245.02
78.94
305.86
25.74
9.70
3.10
64.06
14.56
10.75
4,559.33
899.23
1,738.18
3,035.38
2,998.59
20,000.00
32.18
8.45
2.17
132.03
47.73

34.79
55.23
200.40
14.05

Page 35



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

HANNAY GR75-50 GRNDNG REEL

316-176 S.S PIPE NIPLE

QVA SX-SS 2" 2-PIECE THRD-SS

416-238 S.S. PIPE FTGS.
POWELL 6" 150# 1561
SLIDELOK 74 CPLG 6"
GRUVLOK CAP 6"

B7 BOLT 3/4-10 X 3-1/2" SET
GASKET 6 X 150# DOMESTIC
FLANGE 6" 150 RF WN STD
BLIND 6" 150 RF

PIPE 6" S/40 SMLS
GRUVLOK NIPPLE 6"
U-BOLT 137C 6"

L90857 5"D X 10'L BOOM
350-405 MALLEABLE PIPE
350-623 MALLEABLE PIPE
U100-F-AL

U100-D-AL

U100-DP-AL

TTB75 DIXON

U150-F-AL

U200-DD-AL

U1520-DA-AL

QVA F1-SS 6" 150#
Summit Pump 2196

Martin Flex Coupling 10SC48
Martin Spacer 10H 1-1/8
Martin Spacer 10H 2-1/8
Martin Sleeve 10JEMS

SS Pipe Fitting 416-041

SS Comp Union N2500-8
SS Pipe Fitting 416-474

SS Pipe Fitting 316-020

SS Comp Union N2403-8-8
SS Tube SST-8X.065

SS Pipe Fitting 416-083

SS Comp NPT N2404-8-8
SS Adaptor SS2096-8-4
WINGCRAFT-3" X 10’
BUSHING 3" X 2" 3M THRD

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

S
S
S
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
$
S
$
S
s
S
$
S
$
S
$
S
$
S
$
S
$
S
s
S
$
S

364.06
158.19
310.78
34.75
1,758.52
112.56
86.46
12.31
38.80
88.20
91.13
43.56
149.74
39.57
140.20
4.61
9.59
9.20
15.73
5.66
2.40
12.15
69.23
62.01
3,436.83
21,356.65
229.19
224.34
224.34
150.34
18.15
8.83
16.30
35.18
50.69
44.36
43.76
31.53
61.48
1,155.67
164.95

Page 36



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

QVA F2-SS 2" 150#

POWELL 2" 150# 2342 CF8M

Dixon Strainer RRHS25

Dixon 200-F-SS 2" 316SS Male NPT x Male Adapter
Dixon 200-D-SS 2" 316SS Fem Coupler x Fem NPT
Hose Master Fire-Shield Hose FSMS240200-SS

SS Pipe Fitting 316-020

N2404-4-2-SS NPT COMP Fitting

N2501-4-2-SS 90 COMP Fitting

SS5605-2-2-2 Adapter

416-180-SS Pipe Ftgs

GORMAN-RUPP 03J1 208V EXPLOSION PROOF MOTOR W/ STEEL

BASE

EXPLOSION PROOF OVER VOLTAGE PROTECTION
150-F—-AL11/2” M X M CAM LOCK ALUMINUM
200-A-SS

2” M CAM X 2” FEMALE THREAD

200 - DC— A 2”DUST CAP

200- F-ALM X M 2” CAM ALUMINUM

300 — A—AL 3” MALE CAM X 3” FEMALE THREAD ALUM

300 - DC— AL 3” DUST CAP ALUM
3040-DD-SS DIXON

400-A-AL

4” MALE CAM X 4” FEMALE THREAD ALUM
400-AL-SS DIXON

400-DC-SS DIXON

FBV 100 1”BRASS BALL VALVE

FBV 200

2”BRASS BALL VALVE

FBV 75

GC620p: 0-160 CENTERMOUNTDRT 1/4”
GLS425: 0.300 LIQUID BOTTOM MOUNT 2 1/2” FACE
SS LBV 200 2” SS LOCKING BALL VALVE
SSLBV100 1" SS LOCKING BALL VALVE
SSLBV75

3/4” SS LOCKING BALL VALVE

T200 2” 150# RF FLANGE CS

11/2 SS HEX MACH 3/8 BOLT

3/8 LOCK WASHER

3/8 SS FENDER WASHER

3/8 WEDGE ANCHOR

BRAND NAME:

D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS
D&M HYDRAULIC-CLARKS

D&M HYDRAULIC-CLARKS
DEI
DIXON — D&M HYDRAULICS

DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS

DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS

DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS

DIXON — D&M HYDRAULICS
DIXON — D&M HYDRAULICS
DOTTIE-CLARKS
DOTTIE-CLARKS
DOTTIE-CLARKS
DOTTIE-CLARKS

CPH_PARTS LIST_2025

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH

2RV R ValRE Vo Vo R Vo R R Vol Vo SR Vo Rk Vol Vol

v N n

v N n n v numunmvunon

v nnnunmvn

v nuvununn

751.32
974.39
127.64
74.63
90.93
1,064.27
3.31
13.26
20.53
24.82
2.45

13,107.92
402.50
17.29

49.89
23.54
19.20
25.39
34.58
828.75

52.80
577.83
264.55

41.45

149.56
29.93
12.80
52.46

280.46
78.67

107.18
32.85
2.70
0.29
0.75
12.11

Page 37



SUPPORT ITEM:
3/8-16 SS HEX NUT

2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

FLNG BAND PROTECTOR 3" 150#
3" SINGLE POINT ADAPTER P/N GF64040B

880150:

STANDARD BRAKE INTERLOCK AIR

INTERLOCK VALVE
880-150-01 BRASS
VINYL TAPE

3/4" CONDUIT BODY LB
3/4" MALL COND BODY

3/4" NEO BODY

CONDUIT BODY COVER
CONDUIT BODY GASKET

GALV STEEL
SS WEDGE ANCHOR

1/4 SS WEDGE ANCHOR
1” SS HEX MACH 3/8 BOLT

3/8 DROP IN ANCHOR
3/8-16 SS HEX NUT

EPS-2XPB-SG-MS-C1D1 EXPLOSION PROOF MOMENTARY PUSH

BUTTON SWITCH

ADJUSTABLE PIPE GROUNDING CLAMP

AIR TERMINAL BASE

ALUM PARALLEL CABLE SPLICER
ALUM TERMINAL BONDING LUG

BEAM BONDING CLAMP

COPPER BONDED GROUND ROD 3/4 X 10’
COPPER SAFETY TIP AIR TERMINAL 3/8
COPPER SAFETY TIP AIR TERMINAL 5/8
COPPER TUBULAR POINT AIR TERMINAL 5/8
GROUNDING ROD PIPE CLAMP

SMOOTH WEAVE CONDUCTOR

3/4 SCHEDULE 40 PVC CONDUIT

COND CLAMP
DIP SLOTCHNL

HOT DIPPED 1 5/8” UNISTRUT

3/4" FORM 35 CST CVR

1-1/2" RIGID METAL CONDUIT
1-1/4" RIGID METAL CONDUIT

2" RIGID METAL CONDUIT

BRAND NAME:
DOTTIE-CLARKS

Drake Specialities - D&M

HYDRAULIC
EATON

EBW INC.
ELECTRICAL-3M
ELECTRICAL — CHE
ELECTRICAL — CHE
ELECTRICAL — CHE
ELECTRICAL — CHE
ELECTRICAL — CHE
ELECTRICAL - COND
ELECTRICAL - DOT
ELECTRICAL— DOTTIE
ELECTRICAL — DOTTIE
ELECTRICAL - DOTTIE
ELECTRICAL — DOTTIE
ELECTRICAL — LARSON
ELECTRIC
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL — NVENT
ELECTRICAL - PVC
ELECTRICAL — SS
ELECTRICAL — SS

ELECTRICAL — UNISTRUT

ELECTRICAL -CHE

ELECTRICAL- RIDGELINE
ELECTRICAL- RIDGELINE
ELECTRICAL- RIDGELINE

CPH_PARTS LIST_2025

UNIT:

EACH

EACH
EACH

EACH
CASE
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

PRICE:

$

A2 R VaRE Vola R Vo RE VAR Votil Vo SR Vo R Vo il Vo i Vo SR Vo E Vol

A SR VARE Vol Ve RE Vo REVolaR Vo SR Vo Rk Vol R Vol Vo SR VAR Voli R Vo R Vo R VoRE Vo Rl Ve RE Vo R Vol

0.86

62.43
638.09

7,375.00
11.80
14.65
15.21

6.55
6.73
3.69
4.71
8.48
5.08
0.82
1.33
0.36

719.64
168.73
50.50
12.29
15.05
109.88
64.72
32.24
142.28
142.28
29.83
5.75
17.72
4.96
6.27
70.14
9.69
110.71
94.69
155.91

Page 38



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

3" RIGID METAL CONDUIT

3/4" RIGID 90 DEGREE ELBOW

4" RIGID METAL CONDUIT

VEEDER-ROOT 790095-001 OVERFILL ALARM
ACKNOWLEDGEMENT SWITCH

1" EYS

1" EYS1-1/2"

1" KO SEAL

1" Male Union

2" EYS

3" EYS

5 LBS OF SEALING COMPOUND

CONDULET OEC2

CONDULET OELB2

CONDULET OELL2

CONDULET OELR2

CONDULET OET2

EXPLOSION PROOF 1" 3 HUB JB AND COVER
EXPLOSION PROOF 1" LB

EXPLOSION PROOF 1" TO 3/4" REDUCER
EXPLOSION PROOF 3/4" 2HUB JB AND COVER
EXPLOSION PROOF 3/4" 3 HUB JB AND COVER
EXPLOSION PROOF 3/4" 4 HUB JB AND COVER
EXPLOSION PROOF 3/4" HUB 90 DEGREE JB AND COVER
EXPLOSION PROOF 3/4" LB

EXPLOSION PROOF DEVICE BOX

EXPLOSION PROOF DEVICE COVERS
EXPLOSION PROOF JB W/ CONNECTOR HUB
EYS TOOL KIT

EXPLOSION PROOF FLOW AND LEVEL SENSOR
49.46

VEEDER-ROOT 790091-001 TLS AUDIBLE/VISUAL ALARM
VIT500: 3X4-8” ASSY PUMP

TEFLON 1/16” 48" X 48”

TEFLON 1/8” 48” X 48”

609920: O-RING .210X19.750XBUNA-N
710951-15-AM LEVEL GAUGE ASSY 15" C/C
CAA33-5SB: COALESCER ELEMENT
CM-43SB-5:COALESCER ELEMENT

BRAND NAME:

ELECTRICAL- RIDGELINE
ELECTRICAL- RIDGELINE
ELECTRICAL- RIDGELINE

ELECTRICAL- VEEDER ROOT
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-CHE
ELECTRICAL-FCI
ELECTRICAL-OZ GENDNEY
ELECTRICAL-VEEDERROOT
ENVIR — D&M HYDRAULICS
FABRICATED — D&M
HYDRAULICS

FABRICATED — D&M
HYDRAULICS

FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP

CPH_PARTS LIST_2025

UNIT:

EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH
EACH
EACH
EACH
EACH

PRICE:

s
S
s

390.26
8.66
458.75

708.86
67.77
222.50
9.20
78.00
269.19
499.79
91.48
126.27
126.24
133.80
133.80
135.91
134.90
74.06
18.10
150.67
166.16
173.29
161.81
67.45
51.62
113.93
639.80
149.89
2,380.50
2,927.73
1,110.90
23,853.41

898.40

1,802.56
37.43
564.18
148.38
173.28

Page 39



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

FACET MODEL RCV-50

FACET MODEL VCS-328-128
FG-230-7: ABSORPTIVE ELEMENT

FG-0-612-7: ABSORPTIVE ELEMENT- REPL FG-O-612-2

SIGHT GLASS SYSTEM
SS323FA-5:FILTER

SIGNAGE/MARKINGS STICKERS
901CMK: METER

FR4210H: 20 GPM PUMP

BALL VAVLE 6 150# FLGD SS

BALL VALVE 6” 150# GEAR OPERATED SS
DBB VALVE 3” 150 A216WCB

DBB VALVE 3” X 150# SS

DBB VALVE 6” X 150# SS
TEST/CERT/MATERIAL REPORTS
PORTABLE TOILET

2”150# FULL FACWE 1/8” GRN

12" 150# NON ASB GASKETS

GARLOCK 3" X 150LB. RING

GARLOCK 39700-2605: 700 GREEN 1/8”
1”7150# RING 1/8 GRN

3”150# FULL FACE 1/8” GRN

026768 GASBOY O-RING

CONTROL LEVER PLASTIC

BRAND NAME:

FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP
FACET FILTRATION GROUP
FAST SIGNS - CLARK

FILL RITE — D&M HYDRAULICS

FILL RITE — D&M HYDRAULICS

FLO-TITE — D&M HYDRAULICS
FLOWTEK — D&M
HYDRAULICS

FRANKLIN VALVE — D&M
HYDRAULICS

FRANKLIN VALVE — D&M
HYDRAULICS

FRANKLIN VALVE — D&M
HYDRAULICS

FRANKLIN VALVE — D&M
HYDRAULICS

GARDEN ISLE PORTABLE
TOILET IN

GARLOCK — FABRICATED —
D&M HYDRAULICS

GARLOCK -D&M HYDRAULICS
GARLOCK -D&M HYDRAULICS
GARLOCK -D&M HYDRAULICS
GARLOCK- FABRICATED -
D&M HYDRAULICS
GARLOCK- FABRICATED —
D&M HYDRAULICS

GASBOY - D&M HYDRAULICS

GASBOY - D&M HYDRAULICS

CPH_PARTS LIST_2025

UNIT:

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

PER

MONTH

EACH

EA

EACH

EACH

EACH

EACH

EACH

EACH

PRICE:

S 27,689.70
S 47,038.45
S 34.04
S 89.31
S 1,293.30
S 103.55
S 200.00
S 414.60
S 654.79
S 4,863.35
$2.381.91

S 4,581.87
S 6,363.98
S 12,631.63
S 247.25
S 162.56
S 5.56
S 8.76
S 20.87
S 249.04
S 0.88
S 6.40
S 22.71
S 162.83

Page 40



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:

ELECTRIC RESET GASBOY - D&M HYDRAULICS EACH S 1,878.93

G063313 GASBOY 9100 SERIES STRAINER GASBOY - D&M HYDRAULICS EACH S 100.27

ROLLING PIN GASBOY - D&M HYDRAULICS EACH S 11.40
GOLDEN ROD — D&M

4A6: 1” FILTER HYDRAULICS EACH S 55.01
GORMAN RUPP — D&M

GORMAN RUPP 82D: 2X2 PUMP HYDRAULICS EACH S 4,285.76

1XUZ9: DRUM DOLLY 1000LBS, 6-1/2 INCH H, 55 GAL. GRAINGER EACH S 95.58

3PVP7: EYEWASH FEND-ALL POLYETHYLENE GREEN 0.4 GRAINGER EACH S 486.25

471C35: SAFETY SIGN, 10” X 14” POLYETHYLENE GRAINGER EACH S 14.69

SURFACE MOUNTED PIPE HANGER GRAINGER EACH S 9.21

ULTRATECH Economy Model Berm GRAINGER EACH S 1,298.45

ULTRATECH Drum Spill Containment Pallet GRAINGER EACH S 814.20

SSHGR100-100-20 100’ SS REEL PCC SST CABLE W/20" Y HANNAY EACH S 1,126.86

10.1 fl. oz. Sikaflex Concrete Fix No-Sag Concrete Crack Filler

Repair Polyurethane Sealant HOME DEPOT EACH S 10.61

1 Gal. Ready-Mix Concrete Patch and Repair, Textured Concrete

Patch HOME DEPOT EACH S 41.87

NITRILE-COATED HOME DEPOT EACH S 6.02

LIFT SLING HOME DEPOT EACH S 12.02

FLAT LOOP SLING HOME DEPOT EACH S 23.54

42 Gal. Contractor Bags (50-Count) HOME DEPOT EACH S 35.01

1.89 in. x 35 yd. 394 General Purpose Duct Tape in Silver (3-Pack) HOME DEPOT EACH S 11.42

DUCT TAPE HOME DEPOT EACH S 13.17

CONCRETE MIXING TUB HOME DEPOT EACH S 9.91

5 Gallon Orange Homer Bucket HOME DEPOT EACH S 6.00

5 Gallon Orange Homer Bucket Lid HOME DEPOT EACH S 2.99

20 ft. x 100 ft. Black 6 mil Plastic Sheeting HOME DEPOT EACH S 145.29
HOMEDEPOT-CLARKS

1/4" x 3" Concrete Anchor PETROLEUM EACH S 89.72
HOMEDEPOT-CLARKS

12 in. x 12 in. Square Concrete Patio Block PETROLEUM EACH S 8.60
HOMEDEPOT-CLARKS

2' PVC SCH 40 45 PETROLEUM EACH S 4.42
HOMEDEPOT-CLARKS

2' PVC SCH 40 COUPLING PETROLEUM EACH S 2.04

CPH_PARTS LIST_2025 Page 41



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

2"PVC SCH 4090

2"X10' SCH 40 PVC PIPE

2'"X12"X8' LUMBER

27120PGP-15 Pro Grade Precision 9 in. x 11 in. 120 Grit Medium
Faster Sanding Sheets

3/8" X 10' #3 REBAR

3/8"X1" HEX HEAD SLEEVE ANCHOR

4'X8' SANDED PLYWOOD

5/8 in. x 10 in. Kwik Bolt TZ2 316 Stainless Steel Hex Nut
Concrete Anchor (15-pack)

50 Ib. Non-Shrink Precision Grout

7'X50' CONCRETE REINFORCING MESH

80Z PURPLE CPVC AND PVC PRIMER AND REGULAR CLEAR PVC
CEMENT COMBO PACK

A7 Plus 9.5 oz Epoxy Adhesive Cartridge with Nozzle

ANVIL 12"X4" FINISHING TROWEL

DIABLO 4.5"X1/16"X7/8" METAL CUTOFF WHEEL

EMPIRE 250' ORANGE TWISTED LINE WITH REEL

EMPIRE 3"X1000' CAUTION TAPE

Everbilt Stainless Steel Nut & Washer Kit

Firm Grip Large Nitrile Coated Work Gloves

GALLON SIKALATEX CONCRETE BONDING ADHESIVE MODEL

#187782

GRABBER #8 3" WOOD SCREWS

BRAND NAME:
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

PACK

EACH

EACH

4.06

22.47

27.00

17.23

5.72

17.92

65.76

1,628.40

36.83

201.25

11.73

22.98

16.41

3.99

6.87

29.87

10.14

15.10

34.47

41.38

Page 42



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

HUSKY 16"X3" STAINLESS STEEL HAND GROVER

HUSKY 16"X3.5" MAGNESIUM FLOAT

HUSKY 42 GALLON CONTRACTOR TRASH BAG

HUSKY 47" FIBERGLASS HANDLE DIGGING SHOVEL WITH GRIP
MAKITA 18 VOLT CORDLESS CONCRETE VIBRATOR
MARSHALLTOWN 24" CONCRETE BROOM

MARSHALLTOWN 6"X4" STAINLESS STEEL EDGER WITH 1/2"
RADIUS

MUTUAL INDUSTRIES OSHA REBAR CAP ORANGE

Quikcrete 50 Ibs Anchoring Cement

QUIKRETE 3/4 GRAVEL

RAPID SET MOTAR MIX 55 LBS, MODEL #04010055
RAZORBACK POWER EDGE 48.75" FIBERGLASS HANDLE SQUARE
POINT SHOVEL

ROBTEC 16GA REBAR TIE WIRE

Rust-oleum Professional 1 gal Saftey Red

RYOBI 2300 WATT GENERATOR

TAPCON 5/16"X3" CONCRETE ANCHORS

TILECO 16"X16"X6" CONCRETE FOUNDATION BLOCK
TILECO 4"X3"X2.5" CONCRETE REBAR DOBIE BLOCK

TRUE TEMPER 6CU FT WHEELBARROW WITH STEEL HANDLES

WD-40 8oz Multi-Purpose Lube Penetrant CA

BRAND NAME:
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM
HOMEDEPOT-CLARKS
PETROLEUM

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

14.92

34.47

33.32

25.28

654.35

28.64

11.87

39.33

121.84

9.51

34.47

37.93

18.38

74.02

723.35

22.85

12.96

0.55

125.35

8.41

Page 43



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
HOMEDEPOT-CLARKS

WEN7HP 4500POUND COMPACTION FORCE PLATE COMAPCTOR PETROLEUM EACH S 702.96
CONCRETE DUST VACUUM RENTAL HOME DEPOT DAY S 56.55
3/8-16 X 5 HEX HEAD CAP SCREW HI NUT & BOLT INC EACH S 6.32
3/8-16 X 5 HEX NUT HI NUT & BOLT INC EACH S 0.75
3/8 X 7/8 OD X .050 FLAT WASHER HI NUT & BOLT INC EACH S 0.38
THREAD ROD 3/8"X6' INDUSTRIAL HARDWARE HI EACH S 50.52
CLAMP CONDUIT RGD T316 6" INDUSTRIAL HARDWARE HI EACH S 46.94
CLAMP CONDUIT RGD T304 8" INDUSTRIAL HARDWARE HI EACH S 39.45
1" 150# CS BLIND FLANGE IMC EACH S 46.29
1" 150# CS slip-on-flange IMC EACH S 37.39
1" 150# iso kits IMC EACH S 28.75
1" 150# metallic gasket IMC EACH S 4.14
1" 150# non-asb ring gasket 1/8 thk IMC EACH S 2.59
1" 1504 SS fastener IMC SET S 21.10
1" 150# SS Flanged ball valve IMC EACH S 520.09
1" 150# SS slip-on-flange IMC EACH S 77.05
1" 150# teflon coated fasteners IMC SET S 42.84
1" CS sch80 pipe IMC IF S 16.08
1" CS soc-o-let IMC EACH S 10.80
1" CS thrd union IMC EACH S 11.50
1" CS thrd-o-let IMC EACH S 10.80
1" SS sch80 pipe IMC PER FOOT S 79.74
1" SS soc tee IMC EACH S 160.60
1" SS socket 90 IMC EACH S 61.02
1" SS socket tee IMC EACH S 74.27
1" SS sw union IMC EACH S 60.07
1" x 1/2" threaded reducer IMC EACH S 19.13
1" x 3" CS nipple IMC EACH S 6.92
1" x 6" CS nipple IMC EACH S 8.32
1" x 6" SS Nipple IMC EACH S 46.44
1/2 TON PICKUP IMC PER DAY S 139.84
1/2 x 3 SS studs w/ SS nuts IMC EACH S 20.22
1/2" CS thrd 90 IMC EA S 16.10
1/2" CS thrd Cap IMC EA S 3.45
1/2" CS thrd Gate Valve IMC EA S 610.94
1/2" x 2" SS Nipple IMC EACH $ 11.37
1/2" x 3" SS Nipple IMC EACH S 16.12
1/2"x3" CS thrd nipple IMC EA S 24.43
10" 150# CS Paddle Blind IMC EA S 664.13

CPH_PARTS LIST_2025 Page 44



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876
[J 808 253 8250/ 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

10" 150# non-asb ring gasket 1/8 thk
10" 1504 teflon coated fasteners
10"x2" Saddle Double Strap

12" 150# CS SKILLET

12" 150# CS WELD CAP

12" 150# TEFLON COATED FASTENERS
12" SCH40 CS PIPE

14" 150# FASTENER

14" 1504# ISO KIT

14" 150# NON ASB GASKET

14" Mechanical Pipe Plug

2" 150# CS SLIP-ON FLANGE

2" 150# ISO KIT

2" 150# SS FASTENERS

2" Close Galv Nipple

2" CS sch80 pipe

2" CS socket 90

2" CS socket Gate Valve

2" CS soc-o-let

2" CS thrd Cap

2" SCH80 CS PIPE

2" SS CAMLOCK PLUG

2" SS THRD X CAMLOCK (FEMALE) ADAPTER
2" thrd Full Port Valve

2" X 3"SS

2.5 gt Multi-Mix Container (3pk)

3/4 x 4 1/4 B& Blue Teflon Coated Stud w/ 2G Nuts
4" 150# CS SKILLET

4" 150# non-asb ring gasket 1/8 thk
4" 150# RRWN flange

4" 150# TEFLON COATED FASTENERS
4" x 6" CS concentric reducer

5/8 x 3 1/2 B& Blue Teflon Coated Stud w/ 2G Nuts
6" 150# non-asb ring gasket 1/8 thk
6" 150# RFWN flange

6" 150# teflon coated fasteners

6" CS 90s

6" CS sch40 Pipe

6" u-bolts

6"CS45

ABSORBENT PADS

BRAND NAME:

IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC

CPH_PARTS LIST_2025

UNIT:

24
SET
EA
EA
EA
SET
EA
SET
EA
EACH
EACH
EA
EA
SET
EA

EA
EA
EA
EA
EA
EA
EA
EA
EA
PACK
EACH
EA
EACH
EACH
SET
EACH
EACH
EACH
EACH
SET
EACH

EACH
EACH
PACK

PRICE:

R R VR Vo R Vo Vo R Vo Vo R Vol Vo Vo Vo R Vol Vo R Vo Vo R R Vo Vo R Vo Vo R R Vo Vo R R Vol VR R Vo Vo Vo R VR Vol VSRR Vo VSRR Vo Vo R R VoSl Vo R VoSl Vo R Vo TR R Vo R Vo Rl Vo

81.42
386.40
217.33
108.76
346.92
105.85
596.85
134.63
101.36

10.09
433.45

26.86

28.61

52.07

7.73
353.31
34.21
1,775.31

30.56

21.14

21.08

89.16
163.88

79.38

16.77

8.20
14.27
44.59

3.63

44.16

33.03

81.63

10.87

8.14

79.74

42.84
104.73

62.10

55.20

84.66

75.90

Page 45



© PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:
Acetylene 5 CGA 510
A-FRAME

AMLK 400 (White Kit)
Anti-Seize

Argon 300 CGA 580
BOOM TRUCK
Buffing Wheel 4"
Buffing Wheel 7"
Buffing Wheel 8"
Buffing Wheels
CHART RECORDER
Cutting Disc 4.5"
Cutting Disc 7"
Cutting Oil (160z2)
Dimetcote 302H (Green Kit)
Dry Ice

Freight For Material
GAS TESTER

Gasoila E-Seal
Grinding Disc

HYDRO PUMP
MECHANIC TRUCK
NDE TRUCK

NITRILE GLOVES
Oxygen 300 CGA 540
Paint Brush 2in

Paint Roller 9in

Paint Roller 9in Cover (3pk)
Paint Tray 9in
Painter's Tape

PSX 700 (White Kit)
RAGS

SCAFFOLDING

SEMI

SS Welding Rod 6010 1/8" 50 Ib
Teflon Sheet

Teflon Tape
TELEHANDLER

TOOL TRUCK
TRAILOR TOOL
TRASH BAGS

BRAND NAME:

IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC
IMC

CPH_PARTS LIST_2025

UNIT:
BOTTLE
PER DAY
GAL
QUART
BOTTLE
PER DAY
EACH
EACH
EACH
EACH
PER DAY
EACH
EACH
EACH
GAL

LBS

IS

PER DAY
PINT
EACH
PER DAY
PER DAY
PER DAY
PACK
BOTTLE
EACH
EACH
PACK
EACH
EACH
GAL
EACH

IS

PER DAY
BOX
SHEET
EACH
PER DAY
PER DAY
PER DAY
PACK

PRICE:

s
S
s
S
S
S
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
S
s
s
s
S
s
S
s
S
S
S
s
S
s
S
S
S
S
S

213.16
110.40
249.14
16.15
712.59
253.00
164.08
123.00
58.95
10.52
119.60
20.56
40.96
11.55
284.58
402.50
1,725.00
101.20
26.08
41.57
92.00
266.80
266.80
22.74
125.35
5.87
6.34
14.10
5.14
10.45
343.44
1.24
20,759.50
386.03
289.23
64.40
2.21
312.80
172.50
250.00

31.59

Page 46



2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

[ 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

SUPPORT ITEM:

WELD MACHINE

WELD TRUCK

Welding Blanket 6'x6'
Welding Rod 6010 1/8" 50 Ib
Welding Rod 7010 3/32" 50 |b
1" SS thrd plug

4" 150# non asb gasket

4" 150# SS Weld Neck Flange
Argon Gas Bottle

Buffing Wheels 4"

Grinding Disc 4.5"

Nitrogen 300 CGA 580
Oxygen 300 CGA 540
Welding Rods for SS

C/S 188 USS, 1/4X1-1/2

CS583T: C/S USS TAP 5/8X3

DRILL BITS/P JOBBER 1/4" SP14

FENDER WASHER 188 1/4"X1

FW588SYZ: FLAT WASHER GR8 SAE 5/8” YZ
HEX NUT 18-8 USS 1/4"-20

IR A63124: COBALT BIT, 3/8” CB38
LN588NC: NYLON L/NUT USS, 5/8 GR8

LOCK WASHER 188 1/4"

LPI 4114B TP5040: CASTER BRAKE 4” SWL HRD/RUB

#255 LP14

RUBSET 99060320: PAINT BRUSH 2” PB2

JDG-105: SIGHT GLASS OPTIC ENHANCED BEVELED, TTMA BOLT

PATTERN 4” X 1-1/2”

OK3S: SIGHT GLASS, TTMA BOLT PATTERN
3”STANDARD FUEL

2210822984 VEEDER ROOT 5 DIGIT PRESET

= www.clarkspetroleum.com

BRAND NAME:

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

IMC

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

INDUSTRIAL HARDWARE
HAWAII

JIKOH

JIKOH
LIQUID CONTROLS

CPH_PARTS LIST_2025

UNIT:
PER DAY
PER DAY
EACH
BOX
BOX
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH
EACH

PRICE:

S
S
S
S
S
S
S
s
S
s
S
s
S
s

294.40
384.10
51.44
289.23
289.23
6.90
5.44
472.04
468.62
82.33
10.32
388.95
143.60
291.09
0.47
2.02
4.58
0.24
3.05
0.11
21.09
3.62
0.08
39.28
1.52

132.77

47.10
1,093.59

Page 47



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

1) 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:

40430: GASKET LIQUID CONTROLS EACH S 7.78
43617 LC HANDLE ASSY VALVE V7 LIQUID CONTROLS EACH S 263.18
45160302 A2621 LC VALVE ASSY V7 LIQUID CONTROLS EACH S 924.15
48617: PACKING GLAND KIT LIQUID CONTROLS EACH S 197.29
48618 Packing gland kit M7 LIQUID CONTROLS EACH S 260.58
48775: ROTOR AND GEAR KIT LIQUID CONTROLS EACH S 225.61
48776: ROTOR AND GEAR KIT DISP LIQUID CONTROLS EACH S 244.49
49525: PACKING GLAND (BLADE) FOR M-7

L/C METER LIQUID CONTROLS EACH S 178.41
49526 PACKING GLAND BLADE M7 LIQUID CONTROLS EACH S 291.97
501318: M25/15 BUNA SEAL KIT LIQUID CONTROLS EACH S 24.06
5015361: VALVE ASY 2-WAY SOL; SVKIT

N.C./12VDC/BRS/VIT; S2 LIQUID CONTROLS EACH S 465.43
502078: DIAPHRAGM, BUNA 2” UL LIQUID CONTROLS EACH S 131.21
71131 ; PROBE, RTD; 100 OHM (LCR) LIQUID CONTROLS EACH S 270.06
81512 POWER CABLE LIQUID CONTROLS EACH S 217.63
81513040 DATA CABLE LIQUID CONTROLS EACH S 243.85
84046 POWER CABLE LIQUID CONTROLS EACH S 217.63
A8253: AIR ELIMINATOR, STD; CL 2,3,4,15

AN AL/VIT/PLSTC/SS FLOAT LIQUID CONTROLS EACH S 500.84
D3231: LIQUID CONTROLS

COUNTER/PRINTER ZERO STD F.D REGISTER LIQUID CONTROLS EACH S 1,717.37
GEAR PLATE LIQUID CONTROLS EACH S 407.39
LCR2-I-GN REGISTER LIQUID CONTROLS EACH S 2,661.33
LCR600-I-SA LIQUID CONTROLS EACH S 3,932.50
09213: 12” SCULLY 5-WIRE PROBE AND

HOUSING LITTLE JOHN EACH S 269.18
10137: GASKET 2’ BUNA COUPLER (VIC) LITTLE JOHN EACH S 6.16
10233C: 4” TTMA FLANGE GASKET NON-ASBESTOS- 1/8” THICK

4” GREEN SYNTHETIC LITTLE JOHN EACH S 2.57
1998RK: VENT REPAIR KIT LITTLE JOHN EACH S 97.42
40743C: 4” X 60* DEG S/R LATERAL

ALUMINUM LITTLE JOHN EACH S 82.54
4115: FACEPLATE KIT, NEXT GEN OPTIC 3 J-

SLOTS LITTLE JOHN EACH S 110.24
4115: SCULLY FACEPLATE LITTLE JOHN EACH S 110.24
5300N-18: OPTIC PROBE 18’ 5-WIRE LITTLE JOHN EACH S 155.26
86004123: LITTLE JOHN EACH S 16.15
AV46836ALTS: 4’ AL VAPOR VALVE ASSEMBLY LITTLE JOHN EACH S 411.85
H4137M: COAX BOTTOM GASKET 5-1/8’, OD,

4’ ID, 1/4’'THICK LITTLE JOHN EACH S 4.92

CPH_PARTS LIST_2025 Page 48



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876
[J 808 253 8250/ 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
PPVL816BXB: 16’ PAF OFFSET MANHOLE
ASSEMBLY LITTLE JOHN
VA5182:
CIV EMERGENCY VALVE LITTLE JOHN
WF401SS: 4” WELDED FLANGE SS LITTLE JOHN
MARINE CHEMIST HONOLULU
FIELD CERTIFICATION - CLARKS
GASKITS GRAINGER 5MRT6 MECHCO COMPANY
PT TEST MECHCO COMPANY
SS 1" FLANGE GRAINGER 60WK33 MECHCO COMPANY
SS 1" O-let GRAINGER 4HWH5 MECHCO COMPANY
SS 1" PIPE LOCAL N MECHCO COMPANY
SS 4" FLANGE GRAINGER 4HVY3 MECHCO COMPANY
SS 4" PIPE GRAINGER 782G82 G MECHCO COMPANY
SS HARDWARE LOCAL N MECHCO COMPANY
L300DD PUMP UNIT MEGATOR
L400DD PUMP UNIT MEGATOR
WELDED STEL PIPE - BLACK 8"X21'S40 MID PACIFIC STEEL
CLOCK GAUGE 2" - Morrison Bros 818 Morrison Bros. Co.
TRUCK RENTAL MYBT LLC
VENTURE RENTAL MYBT LLC
WELDING SUPPLIES MYBT LLC
Lucas Oil 85W140 Gear Qil - 1 gt NAPA
2x Rear Track Wheels Norman's Overhead Doors Inc
6" Power Wheel Norman's Overhead Doors Inc
LiftMaster CSL4UL Norman's Overhead Doors Inc
Liftmaster EL-25 G Norman's Overhead Doors Inc
"OLD STYLE"MAIN VALVE REPAIR KIT, BUNA ocv
3/8” NPT SS 1356 PILOT BUNA ELASTOMERS,5-30 PSI SPRING P/N
230713 ocv
3/8”NPT SS 1340P PILOT BUNA ELASTOMERS,20-80 PSI SPRING
P/N 230703P ocv
OCV MODEL: 114-1DE ocv
SS SURGE PILOT BUNA ELASTOMERS,20-80 PSI SPRING P/N
230758 ocv
11BP-0921-E85 NOZZLE E-85 3/4 OPW -D&M HYDRAULICS
11BP-0992-E85 NOZZLE E-85 3/4 OPW -D&M HYDRAULICS

CPH_PARTS LIST_2025

UNIT:

EACH

EACH
EACH

PER DAY
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PER DAY
PER DAY
PER DAY
EACH

EA

EA

EA

EA
EACH

EACH

EACH
EACH

EACH
EACH
EACH

PRICE:
$ 313.04
$ 448.12
$ 103.98
$  4,600.00
$ 149.51
$  1,565.44
$ 67.69
S 51.87
$ 30.00
$ 596.44
$ 365.30
$ 240.00
$  17,302.90
$  27,462.00
$  1,191.56
$ 862.93
$ 65.00
$ 65.00
$ 143.75
$ 13.89
$ 533.60
$ 414.00
$  3,315.45
$  1,991.80
$ 161.29
$ 537.63
$ 537.63
$  7,233.50
$  1,075.25
$ 802.44
$ 805.44

Page 49



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

241TPS-0492 OPW SWIVEL, E85

66H-0975-E85 3/4" WHIP HOSE E-85 34" X 9" WHIP
66REC-LO00: 1” BREAK AWAY

66V-0300 3/4" BREAKAWAY

ETHANOL E85 3/4

YELLOW NOZZLE

FUTURA E-85 3/4" X 12' MXM

TPS-1000: 1” FUEL SWIVEL

17-45: MGR-50-50 WITH 50’ CABLE

17-90: HGR100-100 STATIC REEL

30T35687: ROCKER SWITCH, PTO

381650: 2-1/2” PUMP FLANGE GASKET

531803: GASKET R/V COVER 3’ B/M

621612: 2-1/2” STRAINER BASKET

871185: 3’ BLACKMER PUMP HIGH LOW
DIAPHRAGM

898951: 2 1/2” PUMP REPAIR KIT

898952: 3” PUMP REPAIR KIT

910AV: VITON SWIVEL SEAL

9912.0001: ELECTRIC HOSE REEL CHAIN

9915.0009: MOTOR REEL

9917.0001: EXPB-2A REEL SWITCH

9936.0645: 1-1/2” LOW TEMP VITON SWIVEL S
GR75-75: GROUNDING REEL

TXD2.5A: 2.5” PETROLEUM PUMP

20 CY METAL DEBRIS BIN

EXPLOSION PROOF CONTROL STATION AND FLOATS
EXPLOSION PROOF CONTROL STATION AND FLOATS
6"SS ADJUSTABLE SADDLE SUPPORT WITH U BOLT KIT

PIPE SADDLE SUPPORT 4" - CUSTOM FABRICATED
PIPE SADDLE SUPPORT 6" - CUSTOM FABRICATED
PIPE SADDLE SUPPORT 8" - CUSTOM FABRICATED
FIBERGLASS BOX

POWELL 1" BALL VALVE

HID-80-H-EX39-850-BYP-SB-G2 Bypass Bulb

BRAND NAME:

OPW -D&M HYDRAULICS
OPW -D&M HYDRAULICS
OPW -D&M HYDRAULICS
OPW -D&M HYDRAULICS

OPW -D&M HYDRAULICS
OPW -D&M HYDRAULICS
OPW -D&M HYDRAULICS
PACIFIC TRUCK TANK
PACIFIC TRUCK TANK
PACIFIC TRUCK TANK
PACIFIC TRUCK TANK
PACIFIC TRUCK TANK
PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PACIFIC TRUCK TANK

PCCC, INC. - CLARKS

PENTAIR

PENTAIR-CLARKS

PIPING NOW

PIPING TECHNOLOGIES - D&M
HYDRAULICS

PIPING TECHNOLOGIES - D&M
HYDRAULICS

PIPING TECHNOLOGIES - D&M
HYDRAULICS

PLAS-TECH

POWELL

RAB-ALMIGHTY ELECTRICAL

HP10 PUMP: RICE HYDRO PUMP — HYDROSTATIC TESTING PUMP RICE — D&M HYDRAULICS

CPH_PARTS LIST_2025

UNIT:
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
PER BIN
EACH
EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

PRICE:

s
S
s
S

wnnununuvonnnonn

R ARV Vol Vo SR Ve R Vo il Vo AR Vo RE VoTRE Vo AR Vo R Vol Vo R Va8

197.40
342.30
111.60
225.11

387.71
460.25
73.89
220.66
345.74
35.57
39.82
7.49
8.90

592.79
731.34
895.44
21.13
33.24
342.84
148.68
42.85
231.81
1,674.24
451.57
154,105.97
154,105.97
652.56

3,619.72
3,412.88
3,068.14
2,371.88

190.71

230.66

4,714.10

Page 50




2 PO Box 701566 Kapolei, HI 96709

7 808 833 7876

[J 808 253 8250/ 808 589 8676
E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

1" RIGID METAL CONDUIT

3/4" RIGID METAL CONDUIT
2MESH063304

3440P304 T304L S/S WELD PIPE
4'x 10'x 1/8” Stainless Steel Plate
T304L 2MESH

OSHA CAUTION 20"X14"

MILLER RESCUE TRIPOD

MILLER MANHANDLER HOIST/WINCH
MIGHTEVAC

ALLEGRO 9504 ELECTRIC BLOWER
66518: LARGE GLOVES

ENV200: ABSORBANT PADS
02R3SWB QT SW PLAS RATIO CON
10M6050: LID FOR 5QT TUB
165W821: ACR ULTRA EXWH
6504-90352 4 INCH 4X3/8"STRIPE MINIRLR
963-3934 PAINT CAN SPOUT
99060310 1" CHIP BRUSH
99060320: 2” CHIP BRUSH
99060340: 4” CHIP BRUSH
994012450 12" FRAME/4" BLK FOA
ACR ULTRA EXWH A

ACR ULTRA EXWH 165W821

ACR ULTRA HARDNR B

ACROLON ULTRA A

BRAND NAME:
RIDGELINE-CLARKS
RIDGELINE-CLARKS

ROYAL METALS-CLARKS
ROYAL METALS-CLARKS
ROYAL METALS-CLARKS
ROYAL METALS-CLARKS
SAFETY SYSTEMS

SAFETY SYSTEMS

SAFETY SYSTEMS

SAFETY SYSTEMS

SAFETY SYSTEMS

SAS SAFETY — D&M
HYDRAULICS

SAS SAFETY — D&M
HYDRAULICS

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

CPH_PARTS LIST_2025

UNIT:
EACH
EACH
EACH
EACH
EA

EA
EACH
WEEKLY
WEEKLY
WEEKLY
WEEKLY
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
GAL
EACH

QUART

EACH

PRICE:

s
S
s
S
S
S
S
s
S
s
S

W

89.77
60.49
1,460.50
307.14
2,293.66
1,472.14
29.84
41.41
143.34
165.63
203.85
20.08
113.26
2.35
2.23
464.90
4.08
1.67
2.52
2.35
6.71
6.73
334.00
464.90

121.13

1,098.25

Page 51



2 PO Box 701566 Kapolei, HI 96709

@

808 833 7876
808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

www.clarkspetroleum.com

PRICE:

SUPPORT ITEM:

ACROLON ULTRA B

B65V820 ACR ULTRA HARDNR B

B65W821 ACR ULTRA EX WH A

B66W311: SHER CRYL EX WHT

LOXON PRIMER

LX2WO0050: LXN C&M PRIMER WH 5QT PLASTIC

POT LNR

MAC 646 MIL HARD B

MACROPOXY 646 A

MACROPOXY 646 B

MPXY 646 MIL WHT A

PAINT SUPPLIES

PRIMER

SAFTEY YELLOW

SEALANT

WHITE EPOXY PAINT

LOW VOC THINNER #1 REDUCER FOR ZINC PRIMER & ACROLON

ULTRA

REDUCER R7K15 REDUCER FOR MACROPOXY
ACRULTRAEXWH I65W00821
ZCIIPLS GRYN 169VZ0012 KIT PRIMER

54BA-KB118-M4-C2A-TT
5AP-EG-U8-C2A-TT
#10AWG STRANDED THHN
#12AWG STRANDED THHN

BRAND NAME:

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS-CLARKS
PETROLEUM

SHERWIN WILLAMS
SHERWIN WILLAMS

SOR

SOR

SOUTHWIRE-CLARKS
SOUTHWIRE-CLARKS

CPH_PARTS LIST_2025

EACH
QUART
GALLON
EACH
PER
GALLON
EACH
GALLON
GALLON
GALLON
GALLON
EACH
EACH
PER GALLN
GALLON
GALLON
GALLON
GALLON
EACH
KIT
EACH
EACH

EACH
EACH

wvunununuvnun;md:n

427.80
110.05
303.44
54.68
51.51
49.54
139.08
128.80
128.80
139.00
56.23
213.86
102.34
21.50
421.65
68.87
47.49
371.36
819.00
907.06
995.90

1.44
0.86

Page 52



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876
[J 808 253 8250/ 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
185CFM 125PSI DIESEL AIR COMPRESSOR RENTAL SUNBELT RENTAL - CLARKS
1/2" - 2" RIGID 300 THREADER SUNBELT RENTAL - CLARKS
375 CFM 150 PSI DIESEL AIR COMPRESSOR SUNBELT RENTAL - CLARKS
60" ART MAN LIFT W/ JIB SUNBELT RENTAL - CLARKS
8K 42’ SHOOTING BOOM FORKLIFT SUNBELT RENTAL - CLARKS
45' ART MANLIFT W/JIB SUNBELT RENTAL - CLARKS
8K-9K 42' TELEHANDLER FORKLIFT SUNBELT RENTAL - CLARKS
8K-9K 42' TELEHANDLER FORKLIFT SUNBELT RENTAL - CLARKS
SUNBELT 10K TELE HANDLER SUNBELT RENTAL - CLARKS
WELDER RENTAL SUNBELT RENTAL - CLARKS
SWAGELOCK — D&M
SS 4 EX 3/4 NIPPLE HYDRAULICS
SWAGELOCK — D&M
TUBING 3/4 X 65 T304 SS HYDRAULICS
1" x 1" 150# FLANGED S/S PRV WITH TEST PORT SET PRESSURE
250 LIQUID TAYLOR VALVE TECHNOLOGY
1" 1504 INLET 1" 150# OUTLET W/ TEST PORT 50 PSI TAYLOR VALVE TECHNOLOGY
1”300 X 1” 300 E SS TAYLOR VALVE TECHNOLOGY
7711-111155-10-10-0 1" Flanged Carbon steel PRV Test Port SET
50 PSI TYPE LIQUID TAYLOR VALVE TECHNOLOGY
825E4751551-10-10-0 1" 150# Flanged S/S PRVs with TEST
PORTS SET PRESSURE 150 TAYLOR VALVE TECHNOLOGY
825E5751551-10-10-0 1" 150# Flanged S/S PRVs with TEST
PORTS SET PRESSURE 210 TAYLOR VALVE TECHNOLOGY

82E4751551-00-10-0 3/4" MALE INLET X 1" FEMALE OUTLET S/S

PRV WITH TEST PORT SET PRESSURE 175 PSI LIQUID MODEL T-

8200-1 TAYLOR VALVE TECHNOLOGY
82E4751551-10-10-0 1" MALE INLET X 1" FEMALE OUTLET S/S

PRV WITH TEST PORT SET PRESSURE 175 PSI LIQUID MODEL T-

8200-1 TAYLOR VALVE TECHNOLOGY
P/N 825E2751551-10-10-0 (1"FLNG S/S PRV W/ TEST 50PSI) TAYLOR VALVE TECHNOLOGY
TAYLOR VALVE 8250 MODEL #825D21541551, SS 316 SST TAYLOR VALVE TECHNOLOGY

CPH_PARTS LIST_2025

PER
MONTH
PER DAY
PER 2
DAYS

PER DAY
PER WEEK
PER DAY
PER DAY
PER WEEK
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH

EACH

EACH

EACH

EACH

PRICE:

S
s

wn Wn

v n

W

$

1,753.31
142.73

1,845.98
1,907.30

3,979.05
2,342.39
1,843.76
2,800.00
2,612.23
632.50
31.35
13.10
845.25
785.98
966.69
923.34

2,041.46

890.56

845.25

845.25

816.04

330.28

Page 53



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[J 808 253 8250/ 808 589 8676
4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM:

TAYLOR VAVLE 8250 MODEL #825D21541351, CARBON STEEL

TEST/CERT/MATERIAL REPORTS

T1506: SYN 6’ FLANGE GASKET

70035SPA2F METER ASSEMBLY

3/4 UNISTRUT STRAP

HOT DIPPED 1 5/8” UNISTRUT

CONCRETE 3/4 4000PS|

BR 2408-12: 12MJ PLUG

BR 6408-24-0-SOLID: 24 MORB EXTERNAL HEX PLUG
SOLID BODY

BR N2403-08-08-SS: 'A TUBE X 'A TUBE UNION

BR N2404-08-08-SS: 'A TUBE X 'A TUBE NPT

BR N2501-08-08SS: MALE ELBOW
BRN2404-16-165S:MALE CONN CPI

CAR N6: 100 FUELER AUTOMATIC 11/2

CAR R11 REBUILT NOZZLE 11/2 AUTO REBUILT NOZZLE
DX HB1512: 150# IRON REDUCER HEX BUSHING
1-1/2” MNPT

DX SW150: 1 1/2” SWIVEL WASHER 1-9/16” ID, 2-
1/16”

FLF 5515-225: 2 1/4 SILICONE HOSE
FLFFLX7903-200225: SILICONE REDUCER 2-2 1/4
HUS 5266: 1-1/2 DIESEL SWIVEL

NS 25-901-30/60-PSI/KPA: COMPOUND GAUGE VAC/PSI

OP3 11BP-0400: UNLEADED NOZZLE/ BLACK

OP4 1290-0050: 1 ‘A AUTO INDUSTRIAL NOZZLE

BRAND NAME:

TAYLOR VALVE TECHNOLOGY

TAYLOR VALVE TECHNOLOGY

TEFLON

TOTAL CONTROL SYSTEM

UNISTRUT-CLARKS
UNISTRUT-CLARKS

WEST OAHU AGGREGATE

WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY
WESTERN INTEGRATED
COMPANY

CPH_PARTS LIST_2025

EACH

EACH

EACH

EACH

EACH

EACH

PER YD

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

EACH

v nununmnunn W

W

179.40
86.25
16.82

9,687.60
12.16
93.14

227.70

4.57
14.10
91.19
54.83
53.08

106.24

486.10

270.45

9.69
2.18
24.03
21.55

171.69

53.10

102.04

500.32

Page 54



2 PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676

E4 accounting@cph-hi.com

& www.clarkspetroleum.com

SUPPORT ITEM: BRAND NAME:
WESTERN INTEGRATED

OP4 190-0115: 2” HIGH FLOW NOZZLE COMPANY EACH S 293.43
WESTERN INTEGRATED

OP4 210-0105: 1.5 ALUM NOZ BUNA-N SEALS COMPANY EACH S 356.54
WESTERN INTEGRATED

OP4-297-9030: 1.5 ALUM SPOUT COMPANY EACH S 113.22
WESTERN INTEGRATED

PTC FOA300MF: 3 SWIVELS COMPANY EACH S 314.09
WESTERN INTEGRATED

SAS RAVEN XL: BLK RAVEN XL/6MIL COMPANY EACH S 23.58
WESTERN INTEGRATED

SKM 1296-1295: WHITE MARKER COMPANY EACH S 4.50

NDP-25BAN: 1” DIAPHRAM PUMP YAMACH — D&M HYDRAULICS EACH S 876.15

DEADMAN SYS RH20C-120-7 Crown Products Inc. EACH S 2,633.58

Stanchion CLARK'S PETROLEUM EACH S 1,980.00

3/8" X 48" X 48" Steel Plate MID PACIFIC STEEL EACH S 512.79

3/4in. x 7 in. Kwik Bolt Long Thread Carbon Steel Expansion
Anchors HOME DEPOT EACH S 15.70
Tapcon 3/16 in. x 1-3/4 in. White Star Flat-Head Concrete

Anchors (75-Pack) HOME DEPOT EACH S 35.42
3/4 in. Galvanized 2-Hole Pipe Hanger Strap (10-Pack) HOME DEPOT EACH S 5.04
Anti-Slip Tape: Very Coarse, 46 Grit Size, Striped, Black/Yellow, 6

in x 60 ft, Acrylic, 2 PK GRAINGER EACH S 189.39
1 Gal. Acetone Flammable Paint Solvent HOME DEPOT EACH S 24.06
BRACE BAND STD 1 7/8 Valve Service & Supply EACH S 0.88
CARRIAGE BOLT 5/16X1 1/4 Valve Service & Supply EACH S 0.18
TENSION BAR 3/4 X 118 Valve Service & Supply EACH S 9.50
HOOK TIE 11GA X 8 1/2 Valve Service & Supply EACH $ 0.20
POST CAP 1 7/8 PS Valve Service & Supply EACH S 1.02
9GA 8' X 50' KB GALV Valve Service & Supply EACH S 529.84
TRUSS ROD 3/8 X 10'6" Valve Service & Supply EACH S 9.19
TRUSS TIGHTNER IND Valve Service & Supply EACH S 2.14
11/2 STD GALV STEEL PIPE Valve Service & Supply EACH S 4.44
BRITE ZINC COLD GALV Valve Service & Supply EACH S 15.65
TRACK WHEEL W/ HD BKT PS Valve Service & Supply EACH S 34.33
V TRACK FOR ROLL GATE 19' Valve Service & Supply EACH S 218.28
1 1/4 STD GALV STEEL PIPE Valve Service & Supply EACH S 3.60
POWER WHEEL 6" CI2620 Valve Service & Supply EACH S 116.17
LINE TRACK BKT 2 3/8 X Valve Service & Supply EACH S 13.13
WHEEL BOX 6" Valve Service & Supply EACH S 26.05

CPH_PARTS LIST_2025

Page 55



© PO Box 701566 Kapolei, HI 96709
7 808 833 7876

[ 808 253 8250 / 808 589 8676

49 accounting@cph-hi.com

&
& www.clarkspetroleum.com

SUPPORT ITEM:

Eaton Field service

FILT-REG, 3/8"

MILL ROLLED PLATE 5/8
MILL ROLLED PLATE 1

1" X 48" X48" HR PLATE
CHROME TAG - RING SPACER

7711-1,3/4"X1"150RFF,BAL,30-100,CS 50PSI

7711-1,1"150RFFINXOUT,BAL,30-100,CS 50PSI

PIPE 8" S/40 SMLS

60 Ib. Concrete Mix

CONCRETE MIXER RENTAL

AUGER RENTAL

GENERATOR RENTAL

1 gal. High Performance Protective Enamel Gloss Safety Yellow
Oil-Based Interior/Exterior Paint

BRAND NAME:
EATON CORPORATION
GRAINGER
KLOECKNER METALS
KLOECKNER METALS
MID PACIFIC STEEL
MID PACIFIC STEEL

TAYLOR VALVE TECHNOLOGY

TAYLOR VALVE TECHNOLOGY
D&M HYDRAULIC

QUIKRETE

CLARKS PETROLEUM

CLARKS PETROLEUM

CLARKS PETROLEUM

HOME DEPOT

CPH_PARTS LIST_2025

UNIT:
EACH
EACH
EACH
EACH
EACH
EACH

EACH

EACH
EACH
EACH
PER DAY
PER DAY
PER DAY

EACH

PRICE:

S
S
S
S
S
S

v nununmnunn

$

5,218.70
168.02
136.49
430.32

1,011.31

52.07

485.99

485.99
57.67
12.56

150.00

100.00

150.00

58.38

Page 56



